LinMot® F01-37S and F01-48
Guides

Version 1.75e

www.LinMot-usa.com 0185-0026-E_1V75 _IG_Linear_Guides_FO01.odt 1/74


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

CAUTION

DAMAGE MAGNETIC DATA CARRIERS AND DELICATE ELECTRONIC EQUIPMENT

LINMOT SLIDERS CONTAIN NEODYMIUM MAGNETS WHICH MAY DISTURB OR ‘i
MERELY BY COMING CLOSE TO THEM.

WHEN HANDLING SLIDERS BE AWARE THAT, DUE THE STRONG MAGNETIC i
ATTRACTION, INJURY FROM FINGERS BEING PINCHED BETWEEN THE SLIDER AND
NEARBY STEEL PARTS IS A VERY REAL POSSIBILITY IF CAUTION IS NOT EXERCISED.

CAUSE BURNS UPON BEING TOUCHED.

THE SLIDERS AND SHAFTS OF LINMOT® LINEAR-ROTARY MOTORS ARE FAST-
MOVING MACHINE PARTS. THE USER MUST TAKE ALL NECESSARY PRECAUTIONS TO
PREVENT THEIR BEING TOUCHED (PROVIDE COVERS, PROTECTION AGAINST
TOUCHING ETC.).

THE SLIDERS OF LINMOT® MOTORS CAN REACH TEMPERATURES WHICH MAY é

The complete documentation including technical data, drawings
and accessories can be downloaded from the download area on
the web page www.LinMot-USA.com .

CAD files and STEP files can be downloaded from the CAD
download area on the web page www.LinMot-USA.com .

www.LinMot-usa.com 0185-0026-E_1V75 _IG_Linear_Guides_FO01.odt 2/74



http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

1 Table of content

EXAMPLE LAY OUT ... . iiieeieirasmeeesasressssmessssssessssmessssssesasmessssssssassnsssssnsesasssssssansessssssssssnsesssssessssnsessanssssssnnnnes 6
T ST 0 ] o 1 O 7
TECHNICAL DATA FOR FO01-37 GUIDE..........cooi it iiresmsssssssssss s s s ms s ss s sssms s s sss s s s ms s s snasassmssssssmnnes 9
Dimensions and mass Of FOT-37S QUIAES..........cccccuuiiiiiiiiieeeeee e e e e e e e e e 10

Mass and Friction FO1-37 for LinMot Designer adn LINMot TalK...........cccoiiiiiiiiiieee 10
TECHNICAL DATA FOR F01-48 GUIDE............ccocmiuirinmnn s s sssss s s sss s ssssss s ssssa s s sssmna s sammss s ne s 1"
Dimensions and mass Of FOT-48 QUIAES.........coiiiiiiiiii e s e e e 12

Mass and Friction F01-48 for LinMot Designer and LiNMot TalK...........cccoecviiiieiiiiiiee e 12
LT T I 13
WIZARD LINMOT-TALK SOFTWARE.........cccoiiiiirinimriinisis s s ssss s s s s s s s s ssss s s s e s s s s snnas 13
Select the right stator and slider IeNGth............cooiii e 13

D= 1 a 1o T = 1Y (o= T O SPPPPRR 14

e 1 I o] g o1 =Y RSP 14

[ (o091 (T TP PPRPPPPRPN 15

FUll IeNGth Of STTOKE.....ciiiieeeeeee et e e e e e e e e e e e e e e e eeeennn s 16

ORDER INFORMATION FOR GUIDE FOT-37S......cociiariierriranesasssssssssnsssssmsssssssessssmssssssssssssssmsssssssssssssssnns 17
1. Step: SeleCt FOT-37S QUIAR........co it e e e e e e e e e e e e e e e eaaa s 17

B (= o TS T=1 1= o ] o oY PRSPPI 17

3. Step: Select type and quantity of Carriage-Kit...........ocoueiiiiiii e 18

4. Step: Select type and quantity Of STAtOr............oviiii i 18

5. Step: Select Trailing chain kit or trailing chain (optional)..............ccoiiiiii 19

6. Step: Select Trailing chain cables (high-flex cable)............ccuviiiiiiiiiii e, 20

7. Step: External Sensor-Kit (OptioNal)..........ouuiiiiii s 21

8. Step: MagnetiC Strip (OPLIONAI).......cccie e e e e e e e e e e e e aaane 21

9. Step: Adapter plate for linear rotary motors (Optional)..........oooeiiiiiiiiiiii e 22

10. Step: Nuts for T-SIot (OPtONAI).........c.uiiiie e 22

L0 (o [T )= L ] o] [T RO U OO 23
ORDER INFORMATION FOR GUIDE FO1-48.........cccocoomiimmminnnsinsssissssssssss s sssss s s ssssss s ssssss sssssssssssas 24
1. Step: SeleCt FOT-48 QUILE.........ueiiiiiieiee e e e e e e e e e e e e e e e 24

D) (=Y o S 1= 1= Yo ] o =Y PP PRPSPPPPRIR: 24

3. Step: Select quantity of Carriage-Kit.......... ... e 25

4, Step: Select type and quantity of Stators and FIaNGes...........ccooov it 25

5. Step: Select Trailing chain kit or trailing chain (optional)............ccccoiiiiiii e, 26

6. Step: Select Trailing chain cables (high-flex cable)..........oo e 27

7. Step: External Sensor-Kit (OPtioNal)...........ooeei oo 28

8. Step: Magnetic Strip (OPHONAI).......cooi i 28

9. Step: Adapter plate for linear rotary motors (optional)...........coooiiiiiiii e 29

10. Step: Nuts for T-SIot (OPtIONAI).........cuviiie e e e e e nreee e 29
DIMENSIONS: SEE DRAWINGS...........coociiriiniinisinss s s s s s s s sn s s s s s e anns s n e s s sns 29
GANTRY DESIGN.....ceiiiiitiiiiriiisrs i s s e e s a e £ e e S e R e S E e e Ea R RS b e R e R R R R e e e nnnE e e e e s 30
Assembly of Gantry design FOT-37X GUIAES.........coiuuiiiiiiiiiiiiee e eeeaees 30
Assembly of Gantry design FOT-48X GUIAES.........ccccuuuiiiiiiiiiiie et e e 31
COMBINATION OF F01-48 AND F01-37S GUIDES..........ccoiooiriierreceerssreesssmesssseessssmesssseessssmns s s s e s s ssssnses 32
T a1 F= LA (=TT o | o PP UPRRR 32

www.LinMot-usa.com 0185-0026-E_1V75 _IG_Linear_Guides_FO01.odt 3/74


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

Assembly of SeMi Gantry AESIGN.........ooi i 33

MULTIPLE CARRIER DESIGN EXAMPLE..........ccoiiiiiiiiriniessssmss s s s sms s sssssssssms s s me s sms s sssnassssnssnsssses 34
MOUNTING INSTRUCTIONS ... iiiiiriiie s s s s ssss s s s s s s ms s s e m s s s e e e nn e e e e e s e a e nmmnnnnnne s 35
ASSEMBLING INSTRUCTIONS........cooiiiiiiiiiiiie s ssssse s ss s sss s s me e sas s s eame s s as s s sme s s as e e nnn e e e e e e s annnnnnn 36
Direction of the MOtor CaDIE...........c..ii s 36
Assembly and disassembly of the motors and Carfiages..........c..ueeeiiiiiiiiiiiiiiiii s 36
ASSEMDIY Of the SIAT ... ..o e e e e ettt e e e e e nreeeaeeas 38
ASSEMDIY Of the FAIWAY .....cceiiiiiiiiie e e e e e e et tee e e e e e e e e e aaaaaaaas 38
Assembly of Trailing Chain Kil...........c.ueiiiiii e e e e e e e e e e e e 39
Assembly of an external SENSOI-KIt............cc.uuuuiiiiiiiiiii e e e 40
BEARING LOAD ON FO01-37S GUIDES..........ccociiimtminnriinnninssr s ssssssssss s sssssn s s s s sssssssssnsnn e e 4
Static and dynamic bearing 10ads FX UNA FY ... 41
Calculation of the static load bearing FX and Fy..........oooo e 41
Static and dynamic moment 10ad MXYZ..........cooi i 42
ELECTRICAL CONNECTION OF TH PS01-37S STATORS..........cccoiriiriiirr s ssme s sssms s ssss s ssssms s sssnnns 43
Installation of the MOLOr CADIE...........uiiii e e e e e e e e e e 44
MOUNTING ,,LONG"“ LOADS ON THE F-GUIDE.........cccccsiitrintnnnmrnissnsns s sssss s s sssssssssss s e 45
FIGURE: ADDITIONAL GUIDE MOUNTED TO THE TOP END OF THE LOAD TO PREVENT
VIBRATIONS. ... i iiieesecerrsss e e s sn e e ss s e s s mr e s s s s e e s sss e e s an e e s ms e e aanessemneeaaneessmsesassnnessannenassnssanannessanssssnnnns 45
MOUNTING LINMOT PRODUCTS ON F-GUIDES........ccccoeiiimimrrriernsssnessssmsssssnsessssms s s s s ssssmssssssssssssssnnnes 46
H-Guides and B-Guides 0N FO1-37X F-GUIdE...........coiiiiiiiiiiiiiiiieee e a e 46
HO1-23x Guide / BOT-23X GUIE........eeiiiiiieiiiiie ettt 46
HO1-37X Guide / BOT-37X GUIE........eeiiiiiieiiiiieiiee ettt 46
Linear-Rotary Motors PRO1T- 0N FO1-37X F-GUIE........cccoiiiiiiiiiiiiii e 47
PRO1-52x40-R/37X120F -HP=C-80 (-L).. teeeitieeeeiie ettt e e e e e e e 47
PRO1-52X60-R/37X120F-HP-C-100 (-L)....teeeiuteieeiiie ettt ettt a e e 47
PR01-52x60-R-G/37x120F-HP-C-100-G05 (G10)......eeiiieieeriiieeiiiieeriee et 48
PRO1-52X60-R/37X120F-HP-C-150 (-L). .. teeiiutieeiiiie ettt 48
H-Guides and B-Guides on FOT-48X F-GUIde...........coiiiiiiiiiiiiiiiiii e 49
HO1-23x Guide / BOT-23X GUIE. ... .eeeeiieieiitiee ettt et e et e e eee e et eeemeee e e emneeeaneeaens 49
HO1-37X Guide / BOT-37X GUIE........eeieiiiieiiieie ettt et e e e enne e e anneee s 49
HO1-48x Guide / BOT-48X GUIE........eeiiiiiiiiiieie ettt e satee e sbeeeeas 50
Linear-Rotary Motors PRO1T- 0N FO1-48X F-GUIE.......ccccoiiiiiiiiiiiiiiie e 51
PRO1-52x40-R/37X120F -HP=C-80 (~L).. -t eeeitieeeeeeeeeiee e e eie et e et e e e e ea e e e e e emnennees 51
PRO1-52x60-R/37X120F -HP-C-100 (-L)- ...ttt etuteeeiiieeeeiee et e et e e e eemee e e e e e e e enneneeeeeas 51
PR01-52x60-R-G/37x120F-HP-C-100-G05 (G10).....ueeeieeeeeiieeeaiieeeaieeeeeiieeeeeee e reeeeeseeee e 52
PRO1-52X60-R/37X120F-HP-C-150 (-L)-...teeeiuteeeiiiie ettt e e e 52
PRO1-84Xx80-C/48XXXF=C-T00 (-L)-..teteiuteeaiiieeeritee ettt e s raneeeeas 53
PRO1-84x80-C/48XXXF-C-100 (GOX)...eetiuteeeiurreeaiureee it ariteeesatteeesibeeessibeeessbeeeesneeeaaeeeseasnnnneeeees 54
Y L 55
MaiNtENANCE Of CaITIAgES. ... .eiii ettt e e e ettt e e e e abb et e e e s aanbeeeeeeeaanbennes 55
Relubrication Of Carfiages. ........ouvueiiiiiii e e 55
Quantity of lubricant fOr Carriages. ..........ooui i 55
(U] Ty Tor=T o] B fo o= 1y - Lo 1= T PR 55
Maintenance of LINMOt MOTOIS.......couiiii e e e e e e e e 56
Y (o] x= o (oI A (x= T 01 o o] o U RSO PO PPPRR PP 57
CAUTION: HANDLING INSTRUCTIONS FOR SLIDERS.........ccccointriinrnisrssssss s sssss s ssssss s ssss e 58
DRAWINGS FOT-37S......uieiiieiiiiimeinsnsiniss s s as s s e g £a e e e d e R e £ e e R e SRR R e £ e e e e n R R R R e e e e 59
Stroke Range FOT-37S QUIAE........ue ittt e e e e e e e e e e e e e e e e e e eeaa e e e aaeeees 59

www.LinMot-usa.com 0185-0026-E_1V75 _IG_Linear_Guides_FO01.odt 4/74


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

DImeNnsions FOT-37S QUIAE.........uiiiiiiiiiiiiie ettt ettt e e e ettt e e e e s bttt e et e et eeeeeeeeeeeeeenennnne 60

Dimensions FO1-37S-AP ground PlIate........ccouiciiiiiiiiiiiiee ettt e e e e s 61
DIimensions FO1-37S @Nd Plates.......cooi it e e st e e e s neeees 62
DIMensions FOT-37S T-SIOS........uiiiiiiiiiiie et 63
Dimensions with HOT-23X86 QUIAE.........oouuuiiiii ittt e e eeeeeebeeneanes 64
Dimensions With HO1-37X166 QUIAE............uuuuiiiiiiiiiiiee et e e e e e e e e e e e e e e e e e e e rb e e e e 65
Dimensions with PRO1-52x40-R/37X120F-HP-C-80/-L.........cttiiiiieiieeiiie et 66
Dimensions with PR01-52x60-R/37X120F-HP-C-100/-L.......ccciiiiiiiiiii e 67
Dimensions with PRO1-52x60-R/37X120F-HP-C-100-G..........ciiiiiiiiiiie et 68
DRAWINGS FOT-48.........coeiiieriiininiisie i s ss s s e e e e e b e e S e R e e e R e SRR e e e ne e b aan e e e e e 69
Stroke Range FOT-48 QUITE......cooiiiiiiiii ettt e e e e e e 69
DIimeNSIioNS FOT-48 QUIAE.........uuiiiiiiiiiieiiie et e e e e e e e e e e e e e e e e e aaaeeeeesaessennn e e eeeas 70
Dimensions FO1-48 ground Plate............... e i e e 7
DIimensions FOT-48 €Nd Plate..........ouueiiiiiiiiie et e e e et e e e s eareeene 72
DECLARATION OF CONFORMITY CE-MARKING.........cccooiiiirinirnnsmssssesssssmssssssssssssms s s sssss e sms s ssssmsnssnees 73
L0707 0 LT 3 T 74

www.LinMot-usa.com 0185-0026-E_1V75 _IG_Linear_Guides_FO01.odt 5/74


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

Example Layout

Figure 1: Gantry-Design with three F01-37S guides

Figure 2: F01-37S guide with two independent motors on the same track

www.LinMot-usa.com 0185-0026-E_1V75 _IG_Linear_Guides_FO01.odt 6/74


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

Description

The LinMot F01-37S and F01-48 guides are moving stator applications with tubular linear motors. The
mechanical design is based on a special aluminum profile on which a high precision profile rail guide is
attached. Use of ball bearings in the carriages guarantee a reliable and smooth operation. The design of
both guides is very similar but different in the dimensions.

F-guides can be mounted together into a gantry design (Fig. 1) without any additional adapters. It is also
possible to run more than one motor on the same guide (Fig. 2). There are two sizes of motors available for
each size of F-guide; the PS01-37Sx60 offers highest velocity on a very short design while the PS01-
375x120 presents double the peak force with an additional 60mm length. The motors of the PS01-48 series
offers a peek force up to 1000 N (250 Ibf).

Together with the HO1 guides for the vertical axis (Fig. 3) and the linear rotary motors of the PR01-52 series
(Fig. 4&5) the F-guides offer a powerful toolbox for any automation task.

Figure 3: F01-37S Guide with mounted H01-23 guide for z-axis

www.LinMot-usa.com 0185-0026-E_1V75 _IG_Linear_Guides_FO01.odt 7174


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

Figure 4: F01-37S Guide with mounted linear rotary motor PR01-52

“a

Figure 5: Gantry Design with mounted linear rotary motor PR01-52

www.LinMot-usa.com 0185-0026-E_1V75 _IG_Linear_Guides_FO01.odt 8/74


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

Technical data for F01-37 Guide

value Note
Static load rating C 15400 N (3462 Ibf) See chapter bearing load
Dynamic load rating Co 8'400 N (1888 Ibf) See chapter bearing load
Static moment load Mo 103 Nm (75.9 Ib ft) See chapter bearing load
Myo 90 Nm (66.3 Ib ft) See chapter bearing load
Mo 90 Nm (66.3 Ib ft) See chapter bearing load
Dynamic moment load Mx 56 Nm (41.3 Ib ft) See chapter bearing load
M, 49 Nm (36.1 Ib ft) See chapter bearing load
M, 49 Nm (36.1 Ib ft) See chapter bearing load
Max velocity Vmax 5m/s (196 in/s) Depending on motor
Max acceleration Amax 75 m/s? (2952 in/s?) |Depending on motor
Stator PS01-37Sx60
Peak Force Foeax 122 N (27.4 1bf)
Continuous Force Feont 20 N (4.5 Ibf)
Max phase current @ 72VDC Imax 12A
Moving mass total M jin tot 1100g (2.421b) Stator, carriage, adapter plate
Repeatability without external +/- 0.05 mm (+/- 0.002 in)
Sensor
Repeatability with external +/-0.01 mm (+/- 0.0004 in) | With external sensor
Sensor
Friction (estimation) F: 7 N (1.6 Ibf) Dependent on application
Stator PS01-37Sx120
Peak Force Fpeax 255N (57.3 Ibf)
Continuous Force F cont 35 (7.8 Ibf)
Max phase current @ 72VDC Imax 15A
Moving mass total M jin tot 1470 g (3.24 1b) Stator, carriage, adapter plate
Repeatability without external +/- 0.05 mm
Sensor (+/- 0.002 in)
Repeatability with external +/- 0.01 mm With external sensor
Sensor (+/- 0.0004 in)
Friction (estimation) F: 7N (1.6 Ibf) Dependent on application

To calculate the motor specific application data we recommend to use the sizing tool LinMot Designer. (see
Download sector on www.LinMot.com )

www.LinMot-usa.com

0185-0026-E_1V75_IG_Linear_Guides_F01.odt

9/74


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

Dimensions and mass of F01-37S quides

Description Part-No Length total Mass
F01-37Sx300 0150-5453 330 mm (13.01n) 3430g (7.57 Ib)
F01-37Sx400 0150-5449 430 mm (16.9in) 4310g (9.51b)
F01-37Sx500 0150-5450 530 mm (20.9in) 5220 g (11.511b)
F01-37Sx600 0150-5424 630 mm (24.8in) 6100 g (13.45 Ib)
F01-375x800 0150-5425 830 mm (32,7 in) 7860 g (17.331b)
F01-37Sx1000 0150-5426 1030 mm (40.6 in) 9640 g (21.251b)
F01-37Sx1200 0150-5427 1230 mm (48.4in) 11400 g (25.13 ib)
F01-37Sx1400 0150-5428 1430 mm (56.3 in) 13200 g (29.10 Ib)
F01-37Sx1600 0150-5429 1630 mm (64.2in) 14930 g (32.92 Ib)
F01-37Sx2000 0150-5430 2030 mm (79.91in) 18490 g (40.76 Ib)

Mass including end-plates, profile rail and slider (without stator and adapter plate)

Mass and Friction F01-37 for LinMot Designer adn LinMot Talk

Select Stator:
Select Slider:

Select Motor Layout:

Mass:

Dry friction:

Note:

PS01-37Sx60 or PS01-37Sx120 high performance
according to the guide length

“Moving Stator”
“add Stator mass”

Mass: with carrier kit FO1-37S/FWK: 600 g
with carrier kit FO1-37S/FWK-F: 790 g (guides >= 1400 mm length)
7N

Depending on the application the mass of the high flex cable(s) must be considered.

www.LinMot-usa.com

0185-0026-E_1V75_IG_Linear_Guides_F01.odt 10/74


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

Technical data for F01-48 Guide

value Note
Static load rating C 30'800 N (6924 Ibf) See chapter bearing load
Dynamic load rating Co 16'800 N (3776 Ibf) See chapter bearing load
Static moment load Mo 206 Nm (151.8 Ib ft) See chapter bearing load
Myo 180 Nm (132.6 Ib ft) See chapter bearing load
Mo 180 Nm (132.6 Ib ft) See chapter bearing load
Dynamic moment load Mx 112 Nm (82.6 Ib ft) See chapter bearing load
M, 98 Nm (72.2 Ib ft) See chapter bearing load
M, 98 Nm (72.2 Ib ft) See chapter bearing load
Max velocity Vmax 3m/s (118 in/s) Depending on motor
Max acceleration Amax 50 m/s? (1968 in/s?) |Depending on motor
Stator PS01-48X240F-C
Peak Force Foeak 550 N (123.6 Ibf)
Continuous Force Feont 145 N (32.6 Ibf)
Max phase current @ 72VDC Imax 26 A
Moving mass total M jin tot 4900 g (10.8 Ib) Stator, carriage, adapter plate
Repeatability without external +/- 0.05 mm (+/- 0.002 in)
Sensor
Repeatability with external +/-0.01 mm (+/- 0.0004 in) | With external sensor
Sensor
Friction (estimation) F. 30 N (6.7 Ibf) Dependent on application
Stator PS01-48X360F-C
Peak Force Foeax 1024 N (230.1 Ibf)
Continuous Force Feont 203 N (45.7 Ibf)
Max phase current @ 72VDC Imax 32A
Moving mass total M jin tot 6250 g (13.8 Ib) Stator, carriage, adapter plate
Repeatability without external +/- 0.05 mm
Sensor (+/- 0.002 in)
Repeatability with external +/- 0.01 mm With external sensor
Sensor (+/- 0.0004 in)
Friction (estimation) F. 34 N (7.6 Ibf) Dependent on application

To calculate the motor specific application data we recommend to use the sizing tool LinMot Designer. (see
Download sector on www.LinMot.com )

www.LinMot-usa.com

0185-0026-E_1V75_IG_Linear_Guides_F01.odt

11/74


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

Dimensions and mass of F01-48 guides

Description Part-No Length total Mass
F01-48x500 0150-5469 540 mm (21.3in) 6.93 kg (15.27 Ib)
F01-48x620 0150-5470 660 mm (26.0 in) 8.19kg (18.04 Ib)
F01-48x800 0150-5471 840 mm (33.1in) 10.19 kg (22.46 Ib)
F01-48x1010 0150-5472 1050 mm (41.3in) 12.45 kg (27.44 Ib)
F01-48x1220 0150-5473 1260 mm (49,6 in) 14.70 kg (32.42 1b)
F01-48x1400 0150-5474 1440 mm (56.7 in) 16.71 kg (36.84 Ib)
F01-48x1610 0150-5475 1650 mm ( 65,0.4 in) 18.97 kg (41.811b)
F01-48x1820 0150-5476 1860 mm (73.2in) 21.23 kg (46.81 Ib)
F01-48x2000 0150-5477 2040 mm (80.3in) 23.18 kg (51.09 Ib)
F01-48x2210 0150-5478 2250 mm (88,6 in) 25.44 kg (56.09 Ib)
F01-48x2450 0150-5479 2490 mm (98.0in) 28.03 kg (61.79 Ib)

Mass including end-plates, profile rail and slider (without stator and adapter plate)

Mass and Friction F01-48 for LinMot Designer and LinMot Talk

Select Stator:
Select Slider:

Select Motor Layout:

Mass:

Dry friction:

Note:

PS01-48x240F... or PS01-48x360F...
according to the guide length

“Moving Stator”
“add Stator mass”

PS01-48Fx240 Mass:
PS01-48Fx360 Mass:

Flange and carrier kit FO1-48/FWK-F:
Flange and carrier kit FO1-48/FWK-F:

2970 g
3370 g

34 N

Depending on the application the mass of the high flex cable(s) must be considered.

www.LinMot-usa.com

0185-0026-E_1V75_IG_Linear_Guides_F01.odt

12/74


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

Drive Setup

The best way to setup a F-Guide together with a LinMot drive is to follow the wizard of the LinMot-Talk
software. Detailed information about this wizard can be found in the manuals about the drives. Please note
the following screen shots of the wizard which may help to answer some questions

Wizard LinMot-Talk Software

Select the right stator and slider length

(Note: F01-37Sx1600-F relates to a slider PLO1-20x1600/1540-HP
stator selection: see label on the stator)

Select 'regular' for Slider mounting direction (comment: in this kind of application the slider direction is not
important).

Step 1/8: Actuator Selection

Actuator Data File: P501-375x60-HP-N-AGI_adp Change Actuator ... ‘
Stator: |PS01-375x60-HP-N-AGI v
Slider: | PLO1-20x1600/1540-HP (L: 1600mm; D: 20mm) v

The slider can be identified by its length.

Slider Mounting Direction: |Regular -

The sliders are not symmetric, The value of ZP (Zero Position) depends on
the mounting direction relative to the stator. Therefore the available stroke
range changes with the mounting direction.

Force

+
O  —
: Stroke

7P
= Motch

www.LinMot-usa.com 0185-0026-E_1V75 _IG_Linear_Guides_FO01.odt 13/74


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

Define Payload

The mass of the carriage-kit is about 465 g. The friction is about 7 N. In gantry design, the friction may be
higher. (See Chapter “Mass and Friction F01-37 for LinMot Designer and LinMot Talk” and “Mass and
Friction FO1-48 for LinMot Designer and LinMot Talk”.)

Step 4/8: Feed Forward Parameters

Mechanical Layout

Maving Part of Motor: | Stator - I
COrientation Angle (-90°,.+20%): 0 o _,"'
Moving Maszs EI o : } |
Stator: 520 g
Additional Load Mass: 465 a

Friction Forces

Dry Friction: 7 M

Viscous Friction: ol Mf{m/s)

+EID“T‘

=l

MagSpring [or other constant force]

External Constant Force: 0 M

Farce Direction: MNegative b

PID Controller

See recommended values to start (the values are higher than normal motor without F-guide)
Increase the values if needed. If the payload is high, then increase the D-Filter time as well.
(Default D-Filter time = 400 us).

Step 5/8: PID Position Controller

PID Position Controller 5etting

P Gain: 8| Afrmm | Set To Default Soft l (P=2.5, D=4, I=0)
D Gain: b Alfni) | setToDefaitssff | (P=6.2,D=10,1=0)
1 Gain: 20 Af{mms)
D Filter Time; 400 us

Moise Filter:

0 T [ Enable Noise Filter

www.LinMot-usa.com 0185-0026-E_1V75 _IG_Linear_Guides_FO01.odt 14/74


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

Homin

Measure the distance B, which is the distance between the carriage and the end-plate, if the carriage is at
the other end of the guide.

Step 7/8: Homing |l

Distance from Stator End to Shider End at the Home Position

ri A i gD mm Rl B 'y
(n} Lu)
o
1200 mim
Distance & 20 mm
Distance B 1430 mm

Step 8/8: Homing Il

Definition of the Application Reference Syztem

Home Position (HP): -1 mm ,1 20mm S0mm 1450 e
) o
HP :

Move to the Initial Pozition at the End of the Homing Procedure

Initial Position (IP): 7 mm c 90 mm D
Mu@bmwumm*
IP

www.LinMot-usa.com 0185-0026-E_1V75 _IG_Linear_Guides_FO01.odt 15/74


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

Full length of stroke

To use the full length of the mechanical stroke on a F01-37S guide it is necessary to switch off the 'Maximal

Position' error.

Datei  Suche Drive Services Einstellungen Fenster Tools Handbicher Hilfe
il
Dt a | & & B S| 4 |[EVI00GP offine (USER) | AR v EIE G4
5P Project £ Falge v
4 n E1100-GP offline (USER] 0. x
L Control Panel Néme Yalue Faw Data LIFID Tyvpe
4 .[Eg Parameters &@ Logic Supply Yoltage Too Low True 1h 157Ch  Boal
E] 08 # Logic Supply Voltage Too High True 1k 1570h  Bool
4 =] Mutlnn. CDntruIISW . IilLMutu:ur Supply Yaoltage Too Low True 1h 157Eh Boal
] Diive Eonflgurahpn 8@ Maotor Supply Yaoltage Too High True 1k 157Fh  Boal
[E] Motor Configuration | 5 oty Short Time Overload True 1h 1580h  Eool
! g ata:_e Mlaut:hlpe Setup & Motar Temp Sensor True 1h 1581k Boal
> - otion Interface .
X PTCT 5 T 1h 1582h  Bool
- [E] Position Contraller . SR SEnse e o
El Current Controller IiLMutu:urSHder Mizzing True Th 1584k Bool
: . [® Mator Hall Signals Missing True 1h 1585h  Boal
4 E Erors & W arningz K -
. .[E] wWamn Detection Mz x LE:-:te_r_naI Paosition Sensar True 1k 1586h  Bool
El Ermar Detection a: liLF'cmtan Lag Ahways True Th 158¥h  Bool
. 1 [=] Erar Behavior EL Pozition Lag Standing True 1h 1538h  Bool
. [E] Protected Technology | IiLMinimaI Positian True 1k 158CH  Bool
[E] Crd Tab 10 Interface r. h axirnal Position Falze Oh 1580k Boal
@ Y ariables # RR Check True 1h 158Eh  Bool
4 - Dzcilloscopes ™" FR Hot Calulated True Th 158Fh  Bool
iR Default [ Check Stator Type True 1h 1590h  Boal
% Meszages
----- Errars
- EEH Criruae
Or change the minimal and maximal position
ﬂ LinMot-Talk 6.2
File Search Drive Services Options Window Tools Manuals Help
ot a & | B & | @ |[ETN00GF offine (USER] | NI SEHAEASFE| D
& Project -f!'
4 Ji@ £1100.GP offine [USER) o v X
L% Control Panel Hame Walue Raw Data UFID Type
4 {Eg Parameters " Minimal Fasition -100 i FFFOBDCOR T48Eh  5SInt32
-[E] 0% " Mazimal Position 100 mim 000F 4240k T4EFh  5Int32
4 =] Mation Cantral 5w
- (=] Drive Configuration
4 [Z] Mator Configuration
-5 Motor Type
-[E] Motar Definitions
- =] Pasttion Feedback
- =] Commutation
4 =] Monitoring
[E] Temperatur Manitaring
4 E Paszition tanitaring
=] Pasition Limits
=] Status In Target Pasition
&) Position Lag Ahays
“{=] Pasition Lag Standing
-[E] Motor Idertification
- =] Matar Communication
. =1 Ciatae Machine Cabion
www.LinMot-usa.com 0185-0026-E_1V75 _IG_Linear_Guides_FO01.odt 16/74


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

Order Information for Guide F01-37S

The guides will be delivered pre-assembled. See section 'Assembling of components' if additional stators or
parts must be installed later. Go step by step though the following order procedure:

1. Step: Select F01-37S guide

Description Part-No Length total Stroke w. PS01-37Sx60* |Stroke w. PS01-37Sx120*
F01-37Sx300 0150-5453 330 mm 200 mm (7.8") 140 mm (5.5")
F01-37Sx400 0150-5449 430 mm 300 mm (11.8") 240 mm (9.4")
F01-37Sx500 0150-5450 530 mm 400 mm (15.7") 340 mm (13.3")
F01-37Sx600 0150-5424 630 mm 500 mm (19.6") 440 mm (17.3")
F01-37Sx800 0150-5425 830 mm 700 mm (27.5") 640 mm (25.1")
F01-37Sx1000 0150-5426 1030 mm 900 mm (35.4") 840 mm (33")
F01-37Sx1200 0150-5427 1230 mm 1100 mm (43.3") 1040 mm (40.9")
F01-37Sx1400-F |0150-5428 1430 mm 1300 mm (51.1") 1240 mm (48.8")
F01-37Sx1600-F |0150-5429 1630 mm 1500 mm (59") 1440 mm (56.6")
F01-37Sx2000-F |0150-5430 2030 mm 1900 mm (74.7") 1840 mm (72.4")
*Stroke tolerance: +0 mm/ -5 mm

Guide including end-plates and profile rail

2. Step: Select Slider

Description Part-No For Guide

PL01-20x305/260-HP-PF 0150-1427 |F01-37Sx300

PL01-20x405/360-HP-PF 0150-1428 |F01-37Sx400

PL01-20x505/460-HP-PF 0150-1429 |F01-37Sx500

PL01-20x605/560-HP-PF 0150-1430 |F01-37Sx600

PL01-20x805/760-HP-PF 0150-1431 F01-37Sx800

PL01-20x1005/960-HP-PF 0150-1432 |F01-37Sx1000

PL01-20x1205/1160-HP-PF 0150-1433 |F01-37Sx1200

PL01-20x1405/1360-HP-PF 0150-1434 |F01-37Sx1400-F

PL01-20x1605/1560-HP-PF 0150-1435 |F01-37Sx1600-F

PL01-20x2005/1960-HP-PF 0150-1436 |F01-37Sx2000-F

One slider is necessary for each guide.

www.LinMot-usa.com 0185-0026-E_1V75 _IG_Linear_Guides_FO01.odt 17174


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

3. Step: Select type and quantity of Carriage-Kit

Description Part-No Description
F01-37S/FWK 0150-5480 Carriage and ground plate for guides <1400 mm
F01-37S/FWK-F 0150-5481 Carriage and ground plate for guides >= 1400 mm

It is possible to run more than one carriage on one guide. Kit includes carriage, adapter plate and all screws
to mount stator and carriage.

Note: FO1-37S guides equal or longer than 1400 mm need F01-37S/FWK-F carriage kits. The ground plate
of the FO1-37S/FWK-F is 7 mm thicker than the ground plate of the FO1-37S/FWK. That means all mounted
parts are moved by 7 mm. See dimensions in brackets on the drawings.

Spare part: Carriage (from SKF) without adapter plate: LLTHC 15 U-T2 P5 Part-No 0150-5265

4. Step: Select type and quantity of Stator

Description Part-No
PS01-37Sx60-HP-N-AGI 0150-2549 37 series HP stator with N connector (IP50)
PS01-37Sx120F-HP-N-AGI |0150-2550 37 series HP stator with N connector (IP50)

It is possible to run more than one stator on one guide. Each stator needs its own carriage-kit.

If different stators are ordered, it is necessary to note the assembling sequence of the stators (from left to
right) on the guide, viewing angle from the site with the trailing chain (see pictures Design 'cable to the left'
or 'cable to the right'.

(e.g. 3 stators in the sequence (from left to right): PS01-37Sx60 / PS01-37Sx60 / PS01-37Sx120 )

F-Guide assembled 'cable to the left' F-Guide assembled 'cable to the right' (default)
Part-No. 0140-0008 Part-Np. 0140-0007

If not mentioned differently, F-guides will be assembled as default.

www.LinMot-usa.com 0185-0026-E_1V75 _IG_Linear_Guides_FO01.odt 18/74


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

5. Step: Select Trailing chain kit or trailing chain (optional)

5.1 Trailing chain kit

Description Part-No For Guide Length of trailing chain
F01-TC300-37 0150-5457 F01-37Sx300 Ca 200 mm
F01-TC400-37 0150-5456 F01-37Sx400 Ca 300 mm
F01-TC500-37 0150-5455 F01-37Sx500 Ca 400 mm
F01-TC600-37 0150-5439 F01-37Sx600 Ca 500 mm
F01-TC800-37 0150-5440 F01-37Sx800 Ca 600 mm
F01-TC1000-37 0150-5441 F01-37Sx1000 Ca 700 mm
F01-TC1200-37 0150-5442 F01-37Sx1200 Ca 800 mm
F01-TC1400-37 0150-5443 F01-37Sx1400-F Ca 900 mm
F01-TC1600-37 0150-5444 F01-37Sx1600-F Ca 1000 mm
F01-TC2000-37 0150-5445 F01-37Sx2000-F Ca 1200 mm

Includes trailing chain and brackets to mount the trailing chain to the stator and the guide. (The kit can not be
used for multiple carriage applications).

5.2 Trailing chain

Description Part-No For Guide Length of trailing chain
FO1h-KS300 0160-0983 F01-37Sx300 Ca 200 mm
FO1h-KS400 0160-0981 F01-375x400 Ca 300 mm
FO1h-KS500 0160-0982 F01-37Sx500 Ca 400 mm
FO1h-KS600 0160-0971 F01-37Sx600 Ca 500 mm
FO1h-KS800 0160-0972 F01-37Sx800 Ca 600 mm
FO1h-KS1000 0160-0973 F01-37Sx1000 Ca 700 mm
FO01h-KS1200 0160-0974 F01-37Sx1200 Ca 800 mm
FO01h-KS1400 0160-0975 F01-37Sx1400-F Ca 900 mm
FO1h-KS1600 0160-0976 F01-37Sx1600-F Ca 1000 mm
FO1h-KS2000 0160-0977 F01-37Sx2000-F Ca 1200 mm

Only trailing chain without any brackets

www.LinMot-usa.com

0185-0026-E_1V75_IG_Linear_Guides_F01.odt

19/74



http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

6. Step: Select Trailing chain cables (high-flex cable)

Description Part-No Description For Motor

KS03-R/N-1.5 0150-3563 | Trailing chain cable 1.5 m with R/N-connector | PS01-37Sx60

KS03-R/N-2 0150-3564 | Trailing chain cable 2 m with R/N-connector |PS01-37Sx60

KS03-R/N-3 0150-3565 | Trailing chain cable 3 m with R/N-connector |PS01-375x60
KS05-09-R/N-1.5 | 0150-3880 |Trailing chain cable 1.5 m with R/N-connector | PS01-37Sx120
KS05-09-R/N-2 0150-3881 | Trailing chain cable 2 m with R/N-connector |PS01-37Sx120
KS05-09-R/N-3 0150-3882 | Trailing chain cable 3 m with R/N-connector |PS01-37Sx120
KS03-R/R-1.5 0150-3566 | Trailing chain cable 1.5 m with R/R-connector | PR01-52x40-R/37x120F-...
KS03-R/R-2 0150-3567 | Trailing chain cable 2 m with R/R-connector |PR01-52x40-R/37x120F-...
KS03-R/R-3 0150-3568 | Trailing chain cable 3 m with R/R-connector |PR01-52x40-R/37x120F-...
KS03-C/C-1.5 0150-3569 | Trailing chain cable 1.5 m with C/C-connector | PR01-52x40-R/37x120F-..
KS03-C/C-2 0150-3570 | Trailing chain cable 2 m with C/C-connector | PR01-52x40-R/37x120F-..
KS03-C/C-3 0150-3571 | Trailing chain cable 3 m with C/C-connector | PR01-52x40-R/37x120F-..

The trailing chain cable should be as short as possible. Use an extension cable for the connection between
the trailing chain cable and the drive.

*  PS01-375x60 stators which are built into the FO1-37S guides need KS03-R/N-.. cables
*  PS01-375x120 stators which are built into the F01-37S guides need KS05-09-R/N-.. cables
« Trailing change cable max. length is limited up to 3 m

* The rotary part of the PR01-52x40-R/37x120F-..motors or the PS01-23x ..

R/R-... cables

e The lineary part of the PR01-52x40-R/37x120F-..motors or PS01-37x ..

C/C-... cables

.-R stators need KS03-

. -C stators need KS03-

www.LinMot-usa.com

0185-0026-E_1V75_IG_Linear_Guides_F01.odt

20/74



http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

7. Step: External Sensor-Kit (optional)

Description

Part-No

F01-37S-SK

0150-5446

Identical for all guides, cable length 2m

The external sensor kit includes sensor MS01-1/D Part- No 0150-1840, sensor adapter plate and mounting
screws. The magnetic strip must be ordered separately.

8. Step: Magnetic strip (optional)

Description Part-No For Guide
F01-MB300 0150-5454 F01-37Sx300
F01-MB400 0150-5451 F01-37Sx400
F01-MB500 0150-5452 F01-37Sx500
F01-MB600 0150-5431 F01-37Sx600
F01-MB800 0150-5432 F01-37Sx800
F01-MB1000 0150-5433 F01-37Sx1000
F01-MB1200 0150-5434 F01-37Sx1200
F01-MB1400 0150-5435 F01-37Sx1400-F
F01-MB1600 0150-5436 F01-37Sx1600-F
F01-MB2000 0150-5437 F01-37Sx2000-F

Only one magnetic strip is needed for several motors with external position sensor kits to run on one guide.

www.LinMot-usa.com

0185-0026-E_1V75_IG_Linear_Guides_F01.odt

21/74


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

9. Step: Adapter plate for linear rotary motors (optional)

Description Part-No For linear rotary motors

FO1k-PR01-52 0160-2536 PR01-52x40-R/37x120F-HP-C-80 (-L)
PR01-52x60-R/37x120F-HP-C-100 (-L)

PR01-52x60-R/37x120F-HP-C-100 (-L)

FO1k-PR0O1-52x60 0160-2657 PR01-52x60-R/37x120F-HP-C-150 (-L)
FO1k-PRO1-84* 0160-2594 PR01-84x80-C/48x240F-C100 (-L) (-GOx)
PR01-84x80-C/48x360F-C100 (-L) (-GOx)

The adapter plats must be mounted to a F01-37S/FWK or F01-37S/FWK-F carriage kit.

Note: HO1-23x.., HO1-37x... and B01-23x.. , B0O1-37x.. -guides can directly be mounted to the F01-37S/FWK

or FO01-37S/FWK-F carriage kit.

10. Step: Nuts for T-Slot (optional)

Description Part-No
Nut N8 / M4 0150-2189 Nut for 8 mm slots of FO1 guides with M4 thread
Nut N8 / M6 0150-2558 Nut for 8 mm slots of FO1 guides with M6 thread

Dimensions see drawings

www.LinMot-usa.com 0185-0026-E_1V75 _IG_Linear_Guides_FO01.odt

22/74



http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

Order example:

Exam

ple 1: F01-37S guide shorter than 1400 mm

pcs |Description Part-No |comment
1 |F01-37Sx800 0150-5425 |F01-37S guide 800 mm
1 | PLO1-20x805/760-HP 0150-1431 | Slider HP for F-guidance
1 |FO01-37S/FWK 0150-5480 | Carriage kit (Guide <1400 mm)
1 |PS01-37Sx120F-HP-N-AGI 0150-2550 | Stator (linear motor)
1 |FO1-TC800 0150-5440 | Trailing chain kit
1 |KS03-R/N-2 0150-3564 | Trailing chain cable 2 m
1 | F-Guide assembled 'cable to the left' 0140-0008
Example 2: F01-37S guide longer than 1400 mm with optional external sensor
pcs |Description Part-No |comment
1 |F01-37Sx1600-F 0150-5429 |F01-37S guide 1600 mm
1 |PL01-20x1605/1560-HP-PF 0150-1435 | Slider HP for F-guidance
1 |FO01-37S/FWK-F 0150-5481 | Carriage kit (guide >= 1400 mm)
1 | PS01-37Sx60-HP-N-AGI 0150-1549 | Stator (linear motor)
1 |FO1-TC1600 0150-5444 | Trailing chain kit
1 |KS03-R/N-2 0150-3564 | Trailing chain cable 2 m
1 |F01-37S-SK 0150-5446 |External Sensor kit, cable length 2m
1 |FO1-MB1600 0150-5436 | Magnetic Strip for F01-37Sx1600
1 |F-Guide assembled 'cable to the right' (default) 0140-0007

Example 3: F01-37S guide longer than 1400 mm with 3 moving stators

pcs | Description Part-No |comment
1 |F01-37Sx1600-F 0150-5429 |F01-37S guide 1600 mm
1 | PL01-20x1605/1560-HP-PF 0150-1435 | Slider HP for F-guidance
3 |FO1-37S/FWK-F 0150-5481 | Carriage kit (guide >= 1400 mm)
2 |PS01-37Sx120F-HP-N-AGI 0150-2550 | Stator (linear motor)
1 |PS01-37Sx60-HP-N-AGI 0150-1549 | Stator (linear motor)
3 |KS03-R/N-2 0150-3564 | Trailing chain cable 2 m
4 | Nut N8/ M6 0150-2558 | Nuts for T-Slot to mount the F-Guide
1 |Note: Sequence of stators: PS01-37Sx120F / or Drawing
PS01-37Sx120F /PS01-37Sx60F
1 |F-Guide assembled 'cable to the right' (default) 0140-0007 | Note: S01-37Sx120F
1 |F-Guide assembled 'cable to the right' (default) 0140-0007 |Note: PS01-37Sx120F
1 | F-Guide assembled 'cable to the left' 0140-0008 | Note: PS01-37Sx60F

www.LinMot-usa.com

0185-0026-E_1V75_IG_Linear_Guides_F01.odt

23/74


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

Order Information for Guide F01-48

The guides will be delivered pre-assembled. See section 'Assembling of components' if additional stators or

parts must be installed later. Go step by step though the following order procedure:

1. Step: Select F01-48 guide

Description Part-No Length total Stroke w.ith Stroke w.ith
PS01-48x240F-C PS01-48x360F-C
F01-48x500 |0150-5469 540 mm (21.3in) 200 mm (7.8") 80 mm (3.1")
F01-48x620 |0150-5470 660 mm (26.0 in) 320 mm (12.5") 200 mm (7.8")
F01-48x800 |0150-5471 840 mm (33.1in) 500 mm (19.6") 380 mm (14.9")
F01-48x1010 |0150-5472 1050 mm (41.3 in) 710 mm (27.9") 590 mm (23.2")
F01-48x1220 |0150-5473 1260 mm (49,6 in) 920 mm (36.2") 800 mm (31.4")
F01-48x1400 |0150-5474 1440 mm (56.7 in) 1100 mm (43.3") 980 mm (38.5")
F01-48x1610 |0150-5475 1650 mm (64.9 in) 1310 mm (51.5") 1190 mm (46.8")
F01-48x1820 |0150-5476 1860 mm (73.2 in) 1520 mm (59.8") 1400 mm (55.1")
F01-48x2000 |0150-5477 2040 mm (80.3 in) 1700 mm (66.9") 1580 mm (62.2")
F01-48x2210 |0150-5478 2250 mm (88,6 in) 1960 mm (77.1") Not available
F01-48x2450 |0150-5479 2490 mm (98.0 in) 2150 mm (84.6") Not available

2. Step: Select Slider

Description Part-No For Guide
PL01-28x500/420 0150-1382 F01-48x500
PL01-28x620/540 0150-1383 F01-48x620
PL01-28x800/720 0150-1385 F01-48x800
PL01-28x1010/930 0150-1387 F01-48x1010
PL01-28x1220/1140 0150-1388 F01-48x1220
PL01-28x1400/1320 0150-1389 F01-48x1400
PL01-28x1610/1530 0150-1390 F01-48x1610
PL01-28x1820/1740 0150-1395 F01-48x1820
PL01-28x2000/1920 0150-1396 F01-48x2000
PL01-28x2210/2130 0150-1397 F01-48x2210
PL01-28x2450/2370 0150-1398 F01-48x2450

One slider is necessary for each guide.

www.LinMot-usa.com

0185-0026-E_1V75_IG_Linear_Guides_F01.odt

2474


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

3. Step: Select quantity of Carriage-Kit

Description Part-No Description

FO01-48/FWK-F 0150-5488 Kit includes 2 carriages and ground plate

It is possible to run more than one carriage on one guide. Kit includes 2 carriages, ground plate and all
screws to mount stator, flange and carriage.

Spare part: Carriage (from SKF) without ground plate:
LLTHC 15 U-T2P5 Part-No 0150-5265 (2 pcs necessary)

4. Step: Select type and quantity of Stators and Flanges

Description Part-No

PS01-48x240F-C 0150-1220 48 series HP stator with C connector
PF03-48x226 0150-5489 Flange for PS01-48x240F-C and F01-48 Guide
PS01-48x360F-C 0150-1269 48 series HP stator with C connector
PF03-48x346 0150-5490 Flange for PS01-48x360F-C and F01-48 Guide

Each stator needs a flange to be mounted on an a ground plate FO1-48/FWK-F.

It is possible to run more than one stator on one guide. Each stator needs its own carriage-kit.

If different stators are ordered, it is necessary to note the assembling sequence of the stators (from left to
right) on the guide, viewing angle from the site with the trailing chain (see pictures Design 'cable to the left'
or 'cable to the right'.

(e.g. 3 stators in the sequence (from left to right): PS01-48x240F / PS01-48x240F / PS01-48x360F )

F-Guide assembled 'cable to the left’ F-Guide assembled 'cable to the right' (default)
Part-No. 0140-0008 Part-Np. 0140-0007

If not mentioned differently, F-guides will be assembled as default.

www.LinMot-usa.com 0185-0026-E_1V75 _IG_Linear_Guides_FO01.odt 25/74


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

5. Step: Select Trailing chain kit or trailing chain (optional)

5.1 Trailing chain kit

Description Part-No For Guide Length of trailing chain
F01-TC500-48 0150-5498 F01-48x500 Ca 400 mm
F01-TC600-48 0150-5499 F01-48x620 Ca 500 mm
F01-TC800-48 0150-5500 F01-48x800 Ca 600 mm
F01-TC1000-48 0150-5509 F01-48x1010 Ca 700 mm
F01-TC1200-48 0150-5502 F01-48x1220 Ca 800 mm
F01-TC1400-48 0150-5503 F01-48x1400 Ca 900 mm
F01-TC1600-48 0150-5504 F01-48x1610 Ca 1000 mm
F01-TC1800-48 0150-5505 F01-48x1820 Ca 1100 mm
F01-TC2000-48 0150-5506 F01-48x2000 Ca 1200 mm
F01-TC2200-48 0150-5507 F01-48x2210 Ca 1300 mm
F01-TC2400-48 0150-5508 F01-48x2450 Ca 1400 mm

Includes trailing chain and brackets to mount the trailing chain to the stator and the guide. (The kit can not be
used for multiple carriage applications).

5.2 Trailing chain

Description Part-No For Guide Length of trailing chain
FO1h-KS500 0160-0982 F01-48x500 Ca 400 mm
FO1h-KS600 0160-0971 F01-48x620 Ca 500 mm
FO1h-KS800 0160-0972 F01-48x800 Ca 600 mm
FO1h-KS1000 0160-0973 F01-48x1010 Ca 700 mm
FO1h-KS1200 0160-0974 F01-48x1220 Ca 800 mm
FO1h-KS1400 0160-0975 F01-48x1400 Ca 900 mm
FO1h-KS1600 0160-0976 F01-48x1610 Ca 1000 mm
FO1h-KS1800 0160-1011 F01-48x1820 Ca 1100 mm
F01h-KS2000 0160-0977 F01-48x2000 Ca 1200 mm
FO1h-KS2200 0160-1012 F01-48x2210 Ca 1300 mm
FO1h-KS2400 0160-1013 F01-48x2450 Ca 1400 mm

Only trailing chain without any brackets

www.LinMot-usa.com

0185-0026-E_1V75_IG_Linear_Guides_F01.odt

26/74



http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

6. Step: Select Trailing chain cables (high-flex cable)

PS01-48x240F-C and PS01-48x360F-C should be used with KS10 trailing chain (high flex) cables.

Description Part-No Description For Drives
KS10-C/C-2 0150-1816 Trailing chain cable 2 m with C/C-connector | Extension cable
KS10-C/C-4 0150-1817 Trailing chain cable 4 m with C/C-connector | Extension cable
KS10-W/C-4 | 0150-1807 Trailing chain cable W/C, 4 m E1100, E1200 series
KS10-W/C-5 |0150-1860 Trailing chain cable W/C, 5 m E1100, E1200 series
KS10-W/C-6  |0150-1858 Trailing chain cable W/C, 6 m E1100, E1200 series
KS10-W/C-8 |0150-1808 Trailing chain cable W/C, 8 m E1100, E1200 series
KS10-Y/C-4 0150-2439 Trailing chain cable Y/C, 4 m C1100, C1200 series
KS10-Y/C-6 0150-2440 Trailing chain cable Y/C, 4 m C1100, C1200 series
KS10-Y/C-8 0150-2441 Trailing chain cable Y/C, 8 m C1100, C1200 series

See LinMot databook or e-catalogue for more cable options.

www.LinMot-usa.com

0185-0026-E_1V75_IG_Linear_Guides_F01.odt

27174



http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

7. Step: External Sensor-Kit (optional)

Description

Part-No

F01-37S-SK

0150-5446

Identical for all guides, cable length 2m

The external sensor kit includes sensor MS01-1/D Part- No 0150-1840, sensor adapter plate and mounting
screws. The magnetic strip must be ordered separately.

8. Step: Magnetic strip (optional)

Description Part-No For Guide
F01-MB500 0150-5452 F01-48x500
F01-MB620 0150-5461 F01-48x620
F01-MB800 0150-5432 F01-48x800
F01-MB1010 0150-5462 F01-48x1010
F01-MB1220 0150-5463 F01-48x1220
F01-MB1400 0150-5435 F01-48x1400
F01-MB1610 0150-5464 F01-48x1610
F01-MB1820 0150-5465 F01-48x1820
F01-MB2000 0150-5437 F01-48x2000
F01-MB2210 0150-5467 F01-48x2210
F01-MB2450 0150-5468 F01-48x2450

www.LinMot-usa.com

0185-0026-E_1V75_IG_Linear_Guides_F01.odt

28/74


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

9. Step: Adapter plate for linear rotary motors (optional)

Description Part-No For linear rotary motors
FO01k-PR01-52x40/60 0160-2536 PR01-52x40-R/37x120F-HP-C-80 (-L)
PR01-52x60-R/37x120F-HP-C-100 (-L)
FO01k-PR0O1-52x60-150 0160-2657 PR01-52x60-R/37x120F-HP-C-150 (-L)
FO1k-PRO1-84 0160-2594 PR01-84x80-C/48x240F-C100 (- X)

L) (-GO
PR01-84x80-C/48x360F-C100 (-L) (-GOx)

The adapter plats must be mounted to a FO1-48/FWK-F carriage kit.

Note: all H- and B-guides can directly be mounted to the FO1-48/FWK-F carriage kit.

10. Step: Nuts for T-Slot (optional)

Description Part-No
Nut N8/M4 0150-2189 Nut for 8 mm slots of FO1 guides with M4 thread
Nut N8/M6 0150-2558 Nut for 8 mm slots of FO1 guides with M6 thread

Dimensions: see drawings

www.LinMot-usa.com

0185-0026-E_1V75_IG_Linear_Guides_F01.odt

29/74



http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

Gantry Design

Single axes of gantry design will be delivered pre-assembled. Please note direction of the cables

F-Guide assembled 'cable to the left' F-Guide assembled 'cable to the right' (default)
Part-No. 0140-0008 Part-No. 0140-0007

Assembly of Gantry design F01-37x Guides

1. Pins 5x20 mm (2 pcs on both sides)
2. Screws M6x25 (4 pcs on both sides)

www.LinMot-usa.com 0185-0026-E_1V75 _IG_Linear_Guides_FO01.odt 30/74


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

Assembly of Gantry design F01-48x Guides

1. Pins 5x20 mm (2 pcs on both sides)
2. Screws M6x35 (4 pcs on both sides)

www.LinMot-usa.com 0185-0026-E_1V75 _IG_Linear_Guides_FO01.odt 31/74


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

Combination of F01-48 and F01-37S guides

F01-37 guides can directly be mounted to the bigger F01-48 guides. It is also possible to realize semi gantry
constructions as shown below.

Semi gantry design

Semi gantry designs are very cost effective solutions. It is possible to realize a semi gantry without an
additional X-guide as long as the F01-37 guide is short (max 400 mm) and some vibrations are acceptable.
However in high performance applications, heavy load conditions, or long Y-axis strokes an additional X-
guide must be considered.

Semi gantry design: F01-48 guide (X-axis), F01-37S guide (Y-Axis) with additional X-guide to eliminate
vibrations, H01-23 guide (Z-axis)

www.LinMot-usa.com 0185-0026-E_1V75 _IG_Linear_Guides_FO01.odt 32/74


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

Assembly of Semi gantry design

1. Pins 5x20 mm (2 pcs)
2. Screws M6x30 (4 pcs)

www.LinMot-usa.com 0185-0026-E_1V75 _IG_Linear_Guides_FO01.odt 33/74


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

Multiple carrier design example

=) o) 3] &Y |
Oo @ [ o\_} oﬁ(_\ -;a?;j) o C? ® c'\an ﬁ
o [+ a ] o [+] [+] i
0 L0, 9 o L0, 4 .
e o e e
) o
£} o@® cj‘@ o ) r_c@ o@® o
o ?) @é o =] © ® ® ® =} 59 @3’ o
o o@ c® o © 0@% o@ o
N, b
/l | \
THHT // N THEE i
IR ) i 00 0H- |
] T
]

Fig 1 and 2: The picture shows possibility to arrange the trailing chains for a multiple carrier design with
available adapters.

% © o,
o
2 0
o o
[+]
o
®
o
oao,goooao

[=} ‘Cl

o

L= @G
@

=] (=] {s]

@@ ©

o®

° 4o

°@,

o go
®

@

o 90 g

Fig 3 and 4: The picture shows another possibility to arrange the trailing chains for a multiple carrier design.
Because of the huge number of design variations the adapters must be produced by the customer.

www.LinMot-usa.com

0185-0026-E_1V75_IG_Linear_Guides_F01.odt

34/74


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

Mounting instructions

Le [¢]
]
o 2l
& o o o3
OD JOO 00
©
I
s 08 0@ o
0§ g o &) 5] &) © &) o o )
© 0@ 0@ o
[=] —_
B/

Mounting surfdce

Mounting by side plates

Note: To get the best accuracy and alignment, it is important that the extrusion profile of the guide is pressed
to the reference surface and not the end plates.

Mounting 'from the bottom' with nuts and T-slots. Orientation: “Slider to the top”

Note: FO01-37S and F01-48 guides, which are 1400 mm or longer, must be mounted with the “slider to the
top”, as shown in the drawings. Shorter guides can be mounted in every direction. In this case the user has
to mount the trailing chain cables corresponding.

www.LinMot-usa.com 0185-0026-E_1V75 _IG_Linear_Guides_FO01.odt 35/74


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

Assembling Instructions

F01-37 guides will normally be delivered completely assembled. In case of replacements or if additional
carriages/motors should be installed the following installation guides must be considered. Use always
threadlocker.

Direction of the motor cable

According to the application and trailing chain installation of the motor cable, the outlet must be selected.
See installation guide of the short stators PS01-37Sx... for details.

Assembly and disassembly of the motors and carriages

()

&

«%c of o

B By o
© .8 o
adSe

Disassemble the end plate from the side where the slider is in the loose bearing (not fixed by the screw).
Support the slider with non-iron parts so that it can not fall into the guide and remove the end plate.

www.LinMot-usa.com 0185-0026-E_1V75 _IG_Linear_Guides_FO01.odt 36/74


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

1. Move the carriage (3) carefully on the profile rail. Mount adapter plate (2) with screws 5 (M4x8) to the
carriage. Make sure that the adapter plate (2) is aligned to the profile rail (use 90° bracket) ! Now
tighten screws 5.

Mount stator (1) with screws 4 (M5x45) to the adapter plate (2). (The direction of the stator may
depend on the needs of the application).

2. Assemble end plate with screws M6x25

3. Loosen screws 4 to align the stator. Move the carriage unit to the loosen bearing side of the guide.
Then tighten screws 4 .

4. Move carriage unit to the side with the fixed bearing and loose screws 4 once again if the carriage
shows heavy friction. Re-tighten screws 4.

5. Move the carriage unit to the side with the loose bearing, If the carriage shows heavy friction then
loose screws from the end plate and tighten screws again. Loosen screws 4 to align the stator. Move
the carriage unit to the loose bearing side of the guide. Then tighten screws 4

6. Move the carriage unit to the side with the fixed bearing, If the carriage shows still heavy friction then
loosen the M8 screw of the slider and tight it again. Then start alignment process as written before
again (steps 3 to 6). )

www.LinMot-usa.com 0185-0026-E_1V75 _IG_Linear_Guides_FO01.odt 37/74


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

Assembly of the slider

Select the end of the slider without the notches and fasten slider with screw M8x35 to the end plate. Mount
spherical washers on both sides of the end plate. Use conical washer on the side of the slider.

Assembly of the railway

Use M4x16 screws and nuts to mount the railway to the profile. Align the railway with the profile. Every
position for the screws must be used.The end plates are mounded with M6x25 screws.

www.LinMot-usa.com 0185-0026-E_1V75 _IG_Linear_Guides_FO01.odt 38/74


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

Assembly of Trailing Chain Kit

Mount the L-profile with M4x10 screws and nuts into the middle or lower slot of the guide depending on the
bend radius of the high flex cables. Mount the adapter to the stator with 2 screws M4x5. Fix the trailing chain
to the L-profile and the adapter with 4 screws M3x6.

Trailing chains are located in parallel (side by side) for multiple motor applications. Adapters and L-profiles
for the chains are depending on the application and must be designed by the user.

www.LinMot-usa.com 0185-0026-E_1V75 _IG_Linear_Guides_FO01.odt 39/74


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

Assembly of an external sensor-kit

1.) Clean slot on guide profile

2.) Stick magnetic strip into the slot
3.) Screw sensor with 2 pcs M3x12 on the adapter plate and adjust distance according to the installation

guide for the external sensor.

4.) Install adapter with sensor to the backside of the adapter plate (2 pcs M2.5x8) . Secure sensor cable with
bracket to the adapter plate (M3x6).

www.LinMot-usa.com 0185-0026-E_1V75 _IG_Linear_Guides_FO01.odt 40/74


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

Bearing load on F01-37S guides
Z

Static and dynamic bearing loads Fx und Fy

F01-37S guide
SKF profile rail guide: LLT Size 15 profil rail, carriage LLTHC 15 U-T2 P5

See SKF Manual 'Profile rail guides LLT' ( www. SKF.com, document: 12942_1_EN_LLT_2013.pdf) for
additional information about lifetime and maintenance. (LLT Size 15 profil rail, carriage LLTHC 15 U-
T2 P5)

Load capacity static: Co:=15,400 N
Load capacity dynamic: C := 8,400 N

The static and dynamic load bearing will normally not be calculated because a reasonable application will be
limited by the motor performance and not the load bearing. To calculate the application data we recommend
to use the analyzing program LinMot Desiger (see Downloads sector on www.LinMot.com )

If the application shows massive static forces, e.g. if a press is punching on parts which are moved on the
guide, then the load bearing must be evaluated carefully.

Calculation of the static load bearing Fx and Fy

To calculate the static bearing load you need the factor f4 for the load condition, the desired static safety
factor sO, and the resulting force Fr.s. The static load of the F01-37S guide is: Co := 15,400 N
Load condition fy

Max velocity Vmax< 2 m/s : =1 ..... 1.5
Max acceleration Vmax> 2 M/s: fs=1.5....3

www.LinMot-usa.com 0185-0026-E_1V75 _IG_Linear_Guides_FO01.odt 41/74


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

static safety factor s

normal conditions: Sp:>= 2
medium vibration or impact loads: So=3-5
high vibration or impact loads: S0>5

resulting Force Fres
Fres := abs(F,) + abs(F,)

Evaluation of the static load

Eres 1= abs(Fy) + abs(F,) < Co /(fs * so)

Sample:

C, of the F01-37S guide: Co:=15,400 N

Load in y-direction: Fres := abs(Fy)

Max velocity: Vmax = 1.5 m/s --> f4=1
High vibration or impact loads: So:=5

Fres = abS(Fx) + abS(Fy) <G /( fa * So)

= abs(F,) := 15,400 N / (1 *5) := 3,080 N

Note:
The static load bearing must normally not be calculated because it is impossible to move a payload of 308 kg
with a P01-37S motor. However impacts from presses must be considered.

Static and dynamic moment load Mxyz

F01-37S guide

Direction of moment Static Dynamic
M, 103 Nm (75.9 Ib ft) 56 Nm (41.3 Ib ft)
M, 90 Nm (66.3 Ib ft) 49 Nm (36.1 Ib ft)
M. 90 Nm (66.3 Ib ft) 49 Nm (36.1 Ib ft)

To minimize the moment load it is recommended to mount a payload as close as possible to the carriage. In
case of overhanging loads the moments must be reviewed.

See SKF Manual 'Profile rail guides LLT' ( www. SKF.com, document: 12942_1_EN_LLT_2013.pdf) for
additional information about lifetime and maintenance. (LLT Size 15 profil rail, carriage LLTHC 15 U-
T2 P5).

www.LinMot-usa.com 0185-0026-E_1V75 _IG_Linear_Guides_FO01.odt 42/74


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

Electrical connection of th PS01-37S stators

Attention!
Do not connect or disconnect motor while there is power on the servo drive.

Use only double shielded original LinMot cable. Cables from other sources must be checked
precisely before commissioning. Incorrect connections can destroy the drive and stator.

Connector Type N-Connector
P501-37Sx60F-HP-N
_ PS01-375x120F-HP-N
Series
PIN Wire
Phasei+ 4 red
Phase1- 3 pink
Phase2+ 2 blue
Phase2- 1 grey
+5W A white
GROUND* B Inner shield
Sensor Sin c yellow
Sensor Cos D green
Temp sensor E black
SHIELD* of stator and Case Outer shield
stator cable (cable
relief)
Connector on the stator
(-cables)

(The electrical connection of PS01-37Sx60-HP-N-AGI and PS01-37Sx120-HP-N-AGI is identical to the
versions PS01-37Sx60-HP-N and PS01-37Sx120-HP-N)

Adapter cables are available with different connectors and in different length. Please find a list of these
options in the LinMot data book on www.linmot.com. If you need a special cable, please contact LinMot
directly (see contact information on last page).

www.LinMot-usa.com 0185-0026-E_1V75 _IG_Linear_Guides_FO01.odt 43/74


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

Installation of the motor cable

Depending on the direction of the cable exit, it may happen that the cables are above the screw holes. It is

important to ensure that the screw holes are available before screwing!

M2.5 x 12 (2x)

3. Cover/

M2.5 x 10 (2x)

2. Shielding and cable relief

1. Cable with connector

2. Shieldina and cable relief

V25 %10 M2.5x12
3. Cover/
M2.5x10 M2.5x12

In every case make sure that the cable is properly secured outside of the stator (see arrow!) and the bending

radius of the high-flex cable is maintained:

KSO03 high flex cable: min. bending for fix installation: 1 inch
min. bending for moving applications: 2 inch

www.LinMot-usa.com 0185-0026-E_1V75 _IG_Linear_Guides_FO01.odt

44/74


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

Mounting ,.long“ Loads on the F-Guide

If 'long’ loads (e.g. the PR01-52x60-R/37x120F-HP-C-150 linear rotary unit) are mounted to an F-guide, an
additional guide rail should be used to prevent vibration. The guide may also be necessary if the movements
are fast and/or the z-movement includes a high force (e.g. to press a cap on a bottle.) In general, jerk limited
profiles should be implemented in all linear motors for all movements.

The guide rail should be installed at the top end of the load. Note that tolerances between the mounting
points must be compensated to eliminate any tension

[ FT}‘ =]
Ja @ [] [ ] 5] ] 5] =] ] [ ] [F]
=]]

Figure: Additional guide mounted to the top end of the load to prevent vibrations.

www.LinMot-usa.com 0185-0026-E_1V75 _IG_Linear_Guides_FO01.odt 45/74


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

Mounting LinMot products on F-Guides

H-Guides and B-Guides on F01-37x F-Guide

HO01-23x Guide / B01-23x Guide

1. Centering sleeve D9x4mm (2 pcs, Part-No. 0150-3251)
2. Screws M6x35 (2 pcs)

HO01-37x Guide / B01-37x Guide

1. Centering sleeve D9x4mm (2 pcs, Part-No. 0150-3251)
2. Screws M6x25 (2 pcs)

www.LinMot-usa.com 0185-0026-E_1V75 _IG_Linear_Guides_FO01.odt 46/74


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

Linear-Rotary Motors PR01- on F01-37x F-Guide

PR01-52x40-R/37x120F-HP-C-80 (-L)

=)

Mounting is done with the adapter plate FO1k-PR01-52x40/60 (Part-No. 0160-2536)
NOTE: All the mounting parts are already included (1 - 4)

1. Pins 5x20 mm (2 pcs) 3. Screws M4x8 (2 pcs)

2. Screws M4x14 (2 pcs) 4. Screws M6x16 (4 pcs)*

PR01-52x60-R/37x120F-HP-C-100 (-L)

Mounting this part is done with the adapter FO1k-PR01-52x40/60 (Part-No. 0160-2536)
NOTE: All the mounting parts are already included (1 - 4)

1. Pins 5x20 mm (2 pcs) 3. Screws M4x8 (2 pcs)

2. Screws M4x14 (2 pcs) 4. Screws M6x16 (4 pcs)

www.LinMot-usa.com 0185-0026-E_1V75 _IG_Linear_Guides_FO01.odt 47/74


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

PR01-52x60-R-G/37x120F-HP-C-100-G05 (G10)

1. Pins 5x20 mm (2 pcs)
2. Screws M6x16 (4 pcs)

NOTE: Additional guide mounted to the top end of the load to prevent vibrations may be required. For more
information see chapter Mounting ,long” Loads on the F-Guide.

PR01-52x60-R/37x120F-HP-C-150 (-L)

Mounting this part is done with the adapter plate FO1k-PR01-52x60-150 (Part-No. 0160-2657)
NOTE: All the mounting parts are already included (1 - 4)

1. Pins 5x20 mm (2 pcs) 3. Screws M4x8 (2 pcs)

2. Screws M4x14 (2 pcs) 4. Screws M6x16 (4 pcs)

NOTE: Additional guide mounted to the top end of the load to prevent vibrations may be required. For more
information see chapter Mounting ,long“ Loads on the F-Guide.

www.LinMot-usa.com 0185-0026-E_1V75 _IG_Linear_Guides_FO01.odt 48/74


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

H-Guides and B-Guides on F01-48x F-Guide

H01-23x Guide / B01-23x Guide

1. Centering sleeve D9x4mm (2 pcs, Part-No. 0150-3251)
2. Screws M6x40 (2 pcs)

HO01-37x Guide / B01-37x Guide

Mounting this part is done with the adapter MAP-02 (Part-No. 0150-3959)
NOTE: All the mounting parts are already included (1 - 5)

Screws M6x20 (4 pcs)

Centering sleeve D9x4mm (4 pcs, Part-No. 0150-3251)

Adapter (0160-1713)

Screws M6x18 (4 pcs)

Pin 5x20 mm (1 pc)

o=

www.LinMot-usa.com 0185-0026-E_1V75 _IG_Linear_Guides_FO01.odt 49/74


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

H01-48x Guide / B01-48x Guide

@

[LC!
Vi

(C)

1. Centering sleeve D11x5mm (2 pcs, Part-No. 0150-3252)
2. Screws M8x25 (2 pcs)

www.LinMot-usa.com 0185-0026-E_1V75 _IG_Linear_Guides_FO01.odt 50/74


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

Linear-Rotary Motors PR01- on F01-48x F-Guide

PR01-52x40-R/37x120F-HP-C-80 (-L)

5]

Mounting is done with the adapter plate FO1k-PR01-52x40/60 (Part-No. 0160-2536)
NOTE: All the mounting parts are already included (1 - 4)

1. Pins 5x20 mm (2 pcs) 3. Screws M4x8 (2 pcs)

2. Screws M4x14 (2 pcs) 4. Screws M6x16 (4 pcs)*

PR01-52x60-R/37x120F-HP-C-100 (-L)

Mounting this part is done with the adapter plate FO1k-PR01-52x40/60 (Part-No. 0160-2536)
NOTE: All the mounting parts are already included (1 - 4)

1. Pins 5x20 mm (2 pcs) 3. Screws M4x8 (2 pcs)

2. Screws M4x14 (2 pcs) 4. Screws M6x16 (4 pcs)

www.LinMot-usa.com 0185-0026-E_1V75 _IG_Linear_Guides_FO01.odt 51/74


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

PR01-52x60-R-G/37x120F-HP-C-100-G05 (G10)

1. Pins 5x20 mm (2 pcs)

2. Screws M6x20 (4 pcs)

NOTE: Additional guide mounted to the top end of the load to prevent vibrations may be required. For more
information see chapter Mounting ,long“ Loads on the F-Guide.

PR01-52x60-R/37x120F-HP-C-150 (-L)

=

Mounting this part is done with the adapter plate FO1k-PR01-52x60-150 (Part-No. 0160-2657)
NOTE: All the mounting parts are already included (1 - 4)

1. Pins 5x20 mm (2 pcs) 3. Screws M4x8 (2 pcs)

2. Screws M4x14 (2 pcs) 4. Screws M6x16 (4 pcs)

NOTE: Additional guide mounted to the top end of the load to prevent vibrations may be required. For more
information see chapter Mounting ,long“ Loads on the F-Guide.

www.LinMot-usa.com 0185-0026-E_1V75 _IG_Linear_Guides_FO01.odt 52/74


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

PR01-84x80-C/48xXXF-C-100 (-L)

(S

Mounting this part is done with the adapter plate FO1k-PR01-84 (Part-No. 0160-2594)
NOTE: All the mounting parts are already included (1 - 3)

1. Pins 5x20 mm (2 pcs) 3. Screws M6x18 (4 pcs)

2. Screws M6x30 (4 pcs)

NOTE: Additional guide mounted to the top end of the load to prevent vibrations may be required. For more
information see chapter Mounting ,long“ Loads on the F-Guide.

www.LinMot-usa.com 0185-0026-E_1V75 _IG_Linear_Guides_FO01.odt 53/74


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

PR01-84x80-C/48xXXF-C-100 (G0x)

&

Mounting this part is done with the adapter plate FO1k-PR01-84 (Part-No. 0160-2594)

&

NOTE: All the mounting parts are already included (1 - 3)
1. Pins 5x20 mm (2 pcs)
2. Screws M6x30 (6 pcs)

3. Screws M6x18 (4 pcs)

NOTE: Additional guide mounted to the top end of the load to prevent vibrations may be required. For more
information see chapter Mounting ,long“ Loads on the F-Guide.

www.LinMot-usa.com

0185-0026-E_1V75_IG_Linear_Guides_F01.odt

54/74


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

Maintenance

Maintenance of Carriages

Relubrication of carriages

The lubrication intervals for profile rail guides depend primarily on the average running speed, operating
temperature and grease quality. Where contamination, use of coolants, vibration, shock loads etc. form part
of the environmental conditions, it is advisable to increase re-lubrication intervals accordingly.

The following re-lubrication intervals should be used until empirical values are available.

for velocities v < 1m/s
Constant main load <0.30 C  every 1200 km

(C = Load Capacity)

See SKF Manual 'Profile rail guides LLT' ( www. SKF.com, document: 12942 _1_EN_LLT_2013.pdf) for
additional information about lifetime and maintenance.

Quantity of lubricant for carriages
Quantity of lubricant:= 0,4 cm?

Lubricant for carriages

Lubricant: SKF LGEP 2

Design version for size 15

Figure: Relubrication with grease press. Grease nipple

www.LinMot-usa.com 0185-0026-E_1V75 _IG_Linear_Guides_FO01.odt 55/74


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

Maintenance of LinMot Motors

LinMot Stators will be shipped with an initial lubrication. Maintenance will only be required if the
motors run 'dry' or there is a heavy pollution of the motors.
Under normal industrial conditions (5 days, 8hr/day) one inspection every 3 months is adequate.
Where conditions differ, as with severe and permanent fouling, direct sunshine, operation out in the
open, increased operating temperature etc., the maintenance intervals must be shortened till
empirical values for the particular application are obtained.

Assembling of the Motors
The sliders must be cleaned first. Sliders with a length of more than 500 mm (20 in) must be

lubricated with LUO2. Lubricate the slider with a soft fabric or manually. 4 g of lubricant per meter
slider is enough to create a film of lubricant on the surface of the sliders. (4 g (0.14 o0z) is about %
of a hazelnut). Do not over lubricate! Especially in higher operating temperatures, over lubrication
can lead to a gumming of the lubricant. (In such a situation the motor must be cleaned completely.)

Inspection
Inspections have to be executed according to the operating condition and the load of motors.
Following points have to be checked during inspection:

e |s a film of lubricant on the slider?
e Is the lubricant not sticky?
e Can the slider be moved easily?

If the motors are heavily polluted respectively if no film of lubricant is on the slider, then stators and
sliders must be cleaned and lubricated again.

Cleaning
Pull the sliders carefully out of the Stator: Attention: huge magnetic attraction! Use non magnetic

material (e.g. wood) to cover close-by iron constructions. Clean slider completely with cleaning
agent LUO6. The stators should also be cleaned with a soft fabric and LUO6 until all dirt is
removed. After that lubricate the bore of the stators with about 2-3 g (=0.1 oz) Lubricant LUO2.
There should only be a slight film of lubricant. Do not over lubricate! Slider should be lubricated
according to the chapter 'Assembling of the Motors'.

Lubricant

The lubricant reduces the friction between the chromium-nickel steel surface of the slider and the
reinforced plastic plain bearing.

The following lubricant is recommended:

LinMof® Lubricant LU02-08 (89) Art. No. 0150-1953
LinMof® Lubricant LU02-50 (50g) Art. No. 0150-1954
LinMof® Lubricant LU02-1000  (1000g) Art. No. 0150-1955

LinMot® LUO2 Lubricant corresponds to KLUBERSYNTH UH1 14-31 which was developed for the food processing
industry.

www.LinMot-usa.com 0185-0026-E_1V75 _IG_Linear_Guides_FO01.odt 56/74


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

Cleaning Agent
The following Cleaning Agent spray is recommended for LinMot Stators and Sliders:

LinMot® Spray LU06-250  (250ml) Art. No. 0150-2394

LinMot® LUO6 Lubricant corresponds to KLUBERSYNTH NH1 4—2 which was developed for the food processing
industry.

Storage / transport

Sliders are to be stored and transported only in the plastic containers (with cardboard inlay) provided for this, or already
fitted in LinMot® motors and secured.

Maximum storage temperature: 70 °C

www.LinMot-usa.com 0185-0026-E_1V75 _IG_Linear_Guides_FO01.odt 57174


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

Caution: Handling Instructions for Sliders

LinMot Slider

LinMot® Linear Motor sliders must be handled with care especially if not assembled within the
stator! Damaging or warping of the slider can result in shortened life and/or failure of the motor.
The slider is essentially a high-precision machine component consisting of neodymium magnets
and plastic materials assembled in a thin steel tube. Do not use sliders who are already
damaged on the surface (scratches, deformation, etc.). This can provide a further damage of
the stator! Keep slider away from unshielded flame or heat. Temperature of more than 120°C
will cause demagnetization.

Magnetism

LinMot® sliders contain neodymium magnets which may disturb or damage magnetic data carriers and ﬂ
delicate electronic equipment merely by coming close to them. Examples for such equipment are:
television and computer monitors, credit cards and EC-cards, computers, floppy discs and other data @

storage medium, video tapes, mechanical watches, hearing devices and loudspeaker. Heart pacemakers
can be disturbed by strong magnets. Keep a minimum distance of 1m.

Crushing

When handling sliders be aware that, due the strong magnetic attraction, serious injury from fingers being
pinched between the slider and nearby steel parts is a very real possibility if caution is not exercised.

No modification of sliders provided to customers is allowed!

Do not modify the slider in any way. Any modification could destroy the included magnets and magnet
dust can be generated. Magnet dust is flammable! NdFeB-Magnets are not made of steel. These
magnets are sintered and therefore highly breakable.

www.LinMot-usa.com 0185-0026-E_1V75 _IG_Linear_Guides_FO01.odt 58/74


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

Drawings F01-37S

Stroke Range F01-37S guide

uapam juoowab usiBuotnz Bpo YeiaBiw usuouRdLLg YDOU JBUIDERINEA UDO0U Ladoy JSDaW JUSWNIOQ SO0 LoD BunSuuususs SUSILIUDS SSDSUN SUUD DU JSISSUN JOIIQISA DU JNDILISAUD UDINOURd J56uUDICdUE WaD SDD JUSusMIog WRSSID UD JUDSUSQaN SO0
€V | V6100810 m zl IOWUIT 'OV ILN G-/ 0+ Or8l 0061 0661 OE0: 4-0002%S/€- 104
= 22 O éﬂrﬁnﬂ.‘eﬁas H — ¢ /0+ [id 0051 0651 0£91 | 2-009IXSZE-10d
MONWEBN'Q | pLOZO0G0 | I8uypszen S-/0+ orcl 00€L 06t L oerl 34-00¥F IXSZE-104
wp/sL0zTo0TE |V ki
- OQCUE avous 3 S-/0+ 0or0l oLl 0611 0edl 00 IXS/E-104
WP/SLOZZ0ZL SIS R §-/0+ or8 00/ 066 0g0l 0001%SZ€-104
any Zjesi3 mhﬂu FOH— m G-/ 0+ or9 009 064 0t8 008XSZE-104
JeUSIEN S-/0+ Ok¥ 005 065 0E? 009XSLE-104
S-/0+ ore 00F 06¥ 0tS 00SXSZE-104
S-/0+ ore 00€E 06E 0154 00FXS/E-104
S-/0+ orl 002 062 0EE 00EXS/E-104
SAOMS | ozixsze1054 o04s |09xsse-10sd ®ous| 71 1
@ounis|o]
4 o
o ®o @o e
o® ®©o° © 0 2] 0 <) ] )
0O ®° @° e
© I
4 -] (]
5 % %0°
m o (o] o
oQ
[=]
09XS./€-10Sd
L6 EFENG
4 o
o @®o o o
e o
© o ® © © © © © © © ©
o@o o ©
| e I
o °
@ ©0°
(o] o] o]
0.0 o0
@ |7
o 02LXS.E-1L0Sd
05051 SYOUS
[

11

59/74

0185-0026-E_1V75_IG_Linear_Guides_F01.odt

www.LinMot-usa.com


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

F01-37S quide

imensions

D

uspam juoowst uoIBuoSnz sspo sieBiu usuonsdiug Yoou IBUIDEBIEA UDOU LBICON JSPSY JUSWMIOg SO0 Lop BunSuususs Sudiiy 25 SUSTUN SULD DU SSSTUN JGISIGIEA DIV JNDIISAUD LoINOLSd JSBuDidUs WSD STE YUSWNION WSSSIP UD JuSSLSgeuw 500
eV |V 6120-0810 = = owur ¢ S-/ 0+ ov8l 0061 0661 0202 4-000ZXS/E- 104
= L2 © Eﬁrﬁaﬂ._.gaw“__ _.._MM;NM ¢ /0+ orr 0051 0651 0891 | 4-0091XS/E-104
JMONABNQ | pLOZ0SD | Ieuyezes S-/0+ orzZl 00EL 04€1 0EY | 4-00% |XS/€-104
CRER Ly Y abupy ous G-/ 0+ orol orl 0611 0£Z1 00T 1XS/€-104
NEIC 0] S g g-/0+ (L] 00/ 066 0£01 0001XS/€-104
any Zesig w hﬂu _‘O u_ m S-/0+ or9 009 06L 0E8 008%S/E-104
RUSEN S-/ 0+ bt 005 065 0£9 009%S/€-104
G-/ 0+ (143 00F 06¥ Q€S 005XS/€-104
G-/ 0+ oFe 00g 06€ (i34 00¥*S/€-104
S-/ 0+ ol 002 062 i35 00£XS/€-104
soupsajoy | 0ZIXSLELOSd 40N | 09XS.8-10Sd Xo4s| 21 1
] -] = o -] ] - .
[
-
o
3
09xs.¢e-L0Sd
16 ayous
(o]
0O @0 @O Q
3) o%® oo 0 0 0 0 o o
o o @O e
© [
] L]
&u [o]
(o]
Q
[e]
0Z1XS/£-10Sd
EEENTY

[

11

60/74

0185-0026-E_1V75_IG_Linear_Guides_F01.odt

www.LinMot-usa.com


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

F01-37S-AP ground plate

imensions

D

61/74

uspsm ) a'ni..!un ) T 4OOU JELIDESINSA UDOU LSIdON SSPSY JUSLIMIOG S0P LOP BunBLULEUSD SUDIEILDS S5UN SULO DU JISEUN JQIsiQUeA " RIW JNDIISAUD Uoiuousd 1sEunjduug Wep 5OF ‘JUSWmIog WSSSIp UD juoSLsgsuwn o0
€V | ¥5-6120-0810 = z&  3owur‘oviIN
= | L04YORI0ANH BLL0-0810 | eweursjeq 0LXS@ (V)4 6/ ¥4
el nn d seees 0@ oz |os'sy | €8
suolssuwlig
WP Z0TL s aioid punoio & 01X6@ ¢ |os'sy | zg
oo dv-S.£-104 ¢ ose | oz | o | 18
usuoisuswig | ‘'SOd-A | 'SOd-X| 12901

ajoy Buyunow [pyusD

0185-0026-E_1V75_IG_Linear_Guides_F01.odt

ZE-10H 9l 9L cd pw— o - e
ZE-10H €l Gl 1a OIXSW g0 P e
usuolsuswiq | 'SOd-A | 'SOd-X | 129e1 CIXsW (04 €8 484
12NpoId Jowun >_m._0m CLXSW Gl £8 el
OLXGW 06 8% 484
ZG-103d 0¢ Zl LD QLXGW g9 8¢ L1V
¢5-103d 05’901 6/ oLd CIXSW or 8¢ olv
€5-10yd 0g 6L 60 ZIXSW Gl 8¢ &Y
Ajuoo os'sol| 89 80 oLxXswW 06 %5 v
Aljupo ¥e 89 5 oLxsw G9 £e VA 4
£¢-10H (A 0S'¥? | 92 cLxXeW 0,4 £E oV
Ajuoo (14 0s's¥ | SD CLXGW Gl tt Y
€C-10H [4% 0592 o oLxsw 06 8 v
Ajjuoo 05'60l |4 E2) 0LxXsW c9 8 £V
Ajuoo ¥e £C o) CIXGW o 8 A 4
¢5-104d 05901 zl 1D | a g | CIXSW Gl 8 v
usuolsUBWIQ | 'SOd-A|'SOdX | 12901 /\@ [@Lk usuolsuswIQ|‘SOd-A | 'SOd-X| 12901
1onpoid Jowur Alejos | | sejoy uondo

www.LinMot-usa.com


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

‘usp@Em juoowss usiBuotnz Spo YeyeBiw usuousdyug Yoou JBLIDEBNIBA YDOU LSidoy JSPaV JUSWNIOQ SOP Lop BunBLUUBUSS SUSIRULDS SUSEUN SULO DL JSIS5UN JQISIQISA "PIW JNDULSAUD Uoiuouad ja8uDjdug Wap SOP ‘JUSWIMIO] WSSSIP UD JUSSusqeu 500

F01-37S end plates

imensions

D

v w.axc.%s o5, | oNun ‘OV LN : :
Euﬁ.!wﬂ_._: (6100810 | oweuisieq Om.N—|_ ge _I 0SZ1
OYUEN'Q | SLOZENZL | 3euyprRzen
uabuniapuy suolsuawiqg =jb|d puj 2 _@ p4 M
Wp/SLOT €004 smEs 1
¢!§.§m Sl¢-104d ¢ Dlew
X 0 =
+
€0 -@®- P @u ¢
or'9 £ 0S0l @] | e . , : &
s3IV HOWNa 099 @ |09701| 09E | VO @m T A
ov'e A0S0l @[] . A .
SATIV HO¥NA 099 ¢ | S¢ | 0S¢ | €3 &6 m«.@..@
I ACOLDT 1| oo | o0e | 2o o ol T 9
SITIV HOANA 09°9 @ i3 & © +© ZiA 0 ZHE D
i v o o (001 0z | 10 . _ 2100+ = = =
suosuUsWIq "SOd-A['SO4-X[ 19907 .m_V ¢l & i 21 g | oe | 18
JUol4 E#COO o 19 ; ; suojsuawig SOd-A['SOd-X| 12Pqp]
6 @ o b s
ajoy Bulunow |pAUaD
5 &
oy A1 BT Tog _ X =—+0 L 19
IV HoUnd 099 @ |05°901[ 0528 | ¥a . o Nm_H»Im.ms._ os'ezt| vs | 9v
0 19 D
ALy w = | | ¢ ¢ 70
HHH.@ rP- liAs g 05’65 | ¥S | v
mmmw%_.mwb}%o"zﬂ_e 0§90l 052 | 2a HCT | & _ . ZL A H9 - 9W
| (L AS O osvl| vs | wv
o9 AL DT : ‘. n( o
saTv HodNa 099 ¢ | SE | 08¢ | 1@ @ @ @ @ ZL A H9-9W ocezt| 9 &V
SUORUSWIG SO A[SOdN[PIET| |4 e & ‘ “ L2880
! . ZL A HY - 9W :
ENES ) YTAS G osss| 9 | zv
() ZL & H9 - 9W :
_ _ LASD ocvL| 9 v
@ .@. \m_wr \m_wl suojsuawIg "SOd-A|'SOd-X| 2907
¥Q za sajoy uondo

62/74

0185-0026-E_1V75_IG_Linear_Guides_F01.odt

www.LinMot-usa.com


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

Dimensions F01-37S T-slots

| O
| D
2l
0 ) |
S o
0 ' 1
f’
0 SH @
0=
O
O 0 M
X
oy
i 18,5 _
O o~ - -
N
o) A -
; o~
S| '
a0 T2l
40,5
63
Description Part-No
Nut N8 / M4 0150-2189 Nut for 8 mm slots of FO1-37S guides with M4 thread
Nut N8 / M6 0150-2558 Nut for 8 mm slots of FO1-37S guides with M6 thread

www.LinMot-usa.com

0185-0026-E_1V75_IG_Linear_Guides_F01.odt

63/74



http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

Dimensions with H01-23x86 guide

USEAA JUODWSE LBLSEMT BP0 IEIBBUW UsuoLBALLQ YDOU IBUIDEBINSA LDOU 2paw 20 uEp BurBILUSUSS) SUSILILSE SASIUA SULC) Duliy JSISIUN LOBIEISA PIM INBLISAUD USOLSd J2EURIdUT WaP 550 'JUSLMIS WASSIP UD |uS3LaG3WN 120
eV VZ-61.00810 mmf ¢z JOWuUIT ‘OV ILN 0661 0£0C 4-0002%S/E-104
= L © éﬁﬁ%ﬂuﬂes@i e 0651 O€9 1 4009 1XS/€-104
ROYEN O [ wiozsoso | = p— 06€1L (15341 3-00F 1XSLE-104
wprSLOZ Z0TH |V INUY 0611 0gCl 00Z 1 xS/E-104
usbunapuy suosuswiq 3 066 001 0001%S/E-104
Eum_ommo.m_u_u”%w i L e 06/ 0E8 008XS/€-104
s €2-10H-S./¢-L0d ¢ 065 089 009%SZ€- 104
06¥ 0ES 005XS/€-104
2-MM4 /S.€-104 103 sanjeA ( ) 06 Ot 00FXSZ€-104
06C 0tE 00EXS/E-104
4] 11
o o
r 111
o 1o
851 151 1 e
e L O W W = I
s NAO00O0NOON N THe
05 [(05798] 0G76L : — ,
CI —
E =
I
6L
p |
o® o
oo 0 o () 0 ) ) 0 () el llo
] 90 mm
] o ©x q
o® |
@
0 o] A
Ec °
_ L | \ A
§ Rng L s
&

[

64/74

0185-0026-E_1V75_IG_Linear_Guides_F01.odt

www.LinMot-usa.com



http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

Dimensions with H01-37x166 guide

uspsam juoowsB ueBuorz Spo yeeBaw usuousdyug Yoou ISLIDEBIIEA UDOU LBidoy WMWSO&EQ i ™OQ SOD LOp ?..MMOIEN B BUDH Euww.wwg UL WENGMJ.MWU&E., "I JNCULSAUD LUSiuOoLSd JSEuUD|dUT WP SOP “JUSWNIOQ WSSSIP UD JuSausgeuyln soq
v vosunoan @ 52, | omnovun 06s1 oE91 37009 [XS/6-104
i0¥oesoaar 01400810 | sweuaieg 06E1 0E¥ 1 1-00¥ LXS/E-104
. WoNsmBNG [ viozs0sn | sumezen 0611 0cZl 002 1X5/6-104
E_umaﬂmcm_. b INUY 066 0g0l 000 1XS/ZE-104
— suopsuswig 8 064 0e8 008XS/E-10d
ESVSIGC e we.mﬁ.w 3 065 0£9 009%S/E-10d
. 2€-LOH-S.€-104 ¢ 53 0EC 00GXS/€- 104
. 05€ OEY 00¥XS/€- 104
4-¥M4 /S.€-104 10} senjeA ( ) O6c L3 QOErSle 1O
(112l voz i OHAREAE
i DIRIRINIRIRIEIN
o5 [cvel 0528 _I T3
® 13 |-
m A
o®° o < d p | |H
m o =] 0 =] 0 ) =) il
Goo o m
%@ ® © .
©) 2 ]
) ol@ ©
E_Ho °leé ® L
16
I
L = =

<l

65/74

0185-0026-E_1V75_IG_Linear_Guides_F01.odt

www.LinMot-usa.com


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

Dimensions with PR01-52x40-R/37x120F-HP-C-80/-L

*NOTE: Long “load” on F-Guide mounting restrictions. For more information see page 33

uapsam juoowal uoiBuobnz Spo uBiebiw usuouRdULg YDOoU JBUIDESISA UDOU LSdoN JSDaW JUSWNI0d SO LoD BunBiuusuas SUDILLIUDS SUS5UN SULO "DULL] JUSSUN JOSICISA DU INDILISAUD Udiuosed JaBunjdus Wap SDD “JuSlums:

Sy veeuoms @S| sz | owurt ‘ov LN
L04I299NH 6100810 | eweumyeg
JAOYWEN Q | $10Z90S0 | 2229
Eumpwm-cwo_rc“ INTUY
WPSI0ZZ02)_Snms i m
ma=3 0pXZGe-1L0dd-S.€-L0d §
TeuSEN
ezel 912
0% O
woll Z6 |
= 0
3

ol'sey

09°¢0S

100 WSSSID UD JUOSLBgEWN SO0

0661 0£02 4-0002xS/€-104
0651 0e91 4009 IXS/E-104
04€1 ogr | 4-00F [XS/€-104
0611 gzl 002 [XS/E-104
086 0201 0001%s/e-104
067 0e8 008XS/E-10d
4-MM4d /S.€-104 10} sanjep ( ) 068 089 009%XSZE-104
6% 0gS 00GXS/E-104
04E (54 00PXS/€-10d
062 0eg 00EXS/E-10d
T 5
[] [-] -]

¢l

66/74

0185-0026-E_1V75_IG_Linear_Guides_F01.odt

www.LinMot-usa.com


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

th PR01-52x60-R/37x120F-HP-C-100/-L

imensions wi

D

*NOTE: Long “load” on F-Guide mounting restrictions. For more information see page 33

“uz paEn o owa B yoyBup Bz Japo mewe Biw usuows duug yoou sBLDHE IS

Sv welLnmel Gy | &% 1oMUiT OV IIN
VooRRAnH B L0080 | aweualeg
us_uu__._:mE._n__ FloZanso _ JeuupEIan
INHY
WPISMIZ Z0TE ShES Ul osusLwIg
ey 09%X25-10¥d-S.i€-104d

lcezl 712

AT
05 [E001 28 |

E

425

F95

W-ggLE 0 5| UB 2uejop Rty

yooupsidoy Japaw fusweod sop o p Bunbiuys uss SUSIHUYSS SUSSUN BUYS D UL J3I35UnY

| U, P n CupEaun yoiucssad JeBunydwg wWap sop L usingog WESSID UD JUO0SUSa3 U S0

0661 0807 4-0002X5 /S 104
0851 0g9l 4007 [ XS /E- 104
06¢€L 0erl 4-00F [XS/E- 104
0611 0zl Q0T LXS£e- 104
06& g0l QOOLXSAe-10d - 10] sanje
os¢ 0 00210 4-MM4d /S2¢-104 10y sanjep ()
065 oes Q0FXS/C-1 04
04 0gs QOS>S/ -1 04
06€ ek QOFS/C-1 04
042 0ee QOEXS/ -1 04
21 L1
[=] [=] [=] [=] [5] [+] [=] M
I 1
&l
L1

67/74

0185-0026-E_1V75_IG_Linear_Guides_F01.odt

www.LinMot-usa.com



http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

Dimensions with PR01-52x60-R/37x120F-HP-C-100-G

*NOTE: Long “load” on F-Guide mounting restrictions. For more information see page 33

uapEAa Juoowat usiBuobnz Spo PeiEtiw usuousdyLg Loo.._gw?@;:uortﬂog_bowsrgw&uﬁmomm?aéwukwm HQERQ%MN_WNZE.E;&&SE;,MMW wﬁwm DiuOLRd J2EUDdUE WaD SDD USWMIOQ WaSSID UD JUD3LSqaN 500
£V V1-6110-0810 &v | JoWuIT d 37000¢Xs/6” 104
L - TOS @WJU;EH;EH Al 065 0e91 3009 1XS/€-104
er e : et 06€ 1 oerl 4-00F [ XS/ZE-104
WpfSLOZ ZOTE |V ———news «._u—.usﬂu@ gell otel 00¢ 1750810
Ry z 066 0E01 000LXSZE-10.
Wp/SL0ZZ02L _smes i 06/ 0e8 008XS/€- 1O 8
Iy Zesig X7C- % i 066 0e9 009XS/€-10
oo D709%25-10¥d-SLE7104 { o0& oce 005XS/6-104 .
06€ 0E¥ 00¥XS/E- 104 __
[czall 0g 981 0éc 0ge 00EXS/E-104
<l 17
4-MM4 /S.€-104 10} senjeA ( )
L&
[-] [-] [] [-] e [-]
mm
o~
S

I
dll

09

r% K

[]

(evel ez

05'691

[l

68/74

0185-0026-E_1V75_IG_Linear_Guides_F01.odt

www.LinMot-usa.com


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

*uspun yoowaE yoBupbnz Japo waieBlw usuoazdyed Yoou LB DHIWEN Y20 U LRIdoY 1ZP3M U NY0d sOP HOP Bunbiuyzuss SySIguycs 2uS6Un 2 UYS | DULY J3U36UN JaISIcEn | P pnoupEa uo y2iugsad 2 Bundu wa P sop USWIgo: WESSIP U0 $USa03 Q30N Ss0q

69/74

0185-0026-E_1V75_IG_Linear_Guides_F01.odt

Drawings F01-48
Stroke Range F01-48 guide

o BB e DI | i, POWWT OV UN E - G'0G1Z OFrZ | 0&FZ 05 FExgt-10d
aHnd DT e w - G094 D520 0500 Ol coxgy-10d
RS [eEEs FUREES % G0RG1 So0/l 066l | O¥OZ 0002XBY-104
usBLniERy abuey 3y0l)s § 5'00rl 5'0e61 018l [ 098l 0218 Lod
R SIS z G061 1 SOLEL o091 | 0591 0L 103
o zeeis 8YL04d : 6’055 G001 05CL | ObFI 00V [XGF- 103
_ ’ G00R 506 0lgl | 0%l 022 Xer 104
G045 coL/ 0001 | 0501 OLODEF 103
C0%E C005% 067 N 002G 104
SO0z S0z RIE] 099 0Z5%3r 1 0d
EE] 00z 06V or% 00GX3 104
D4090XE -1 05d A0US | DHOFTXEr-105d @90ls| 71 L7
°e @8 ° 8 @ @°
E e@ mm_ @ @ @ @ @ @ [E] @
g Q . e ©
o O go " o0g © S
— ° o o o
o
]
O % OD & o
. 00 o@
{ H0e e . ‘e e
L 9o o o o
|m gl | IS O |
5698 EXEIS
e 6§ ° S @ @
E ® ® 2 Qo [E] @ @ [5] ] ® ] @)
? ¢ ® %6 0
Ne o g0 ° 5 a © e
° s} o o
=] ° Q Q = [+]
| °° °6 —
p =) =) _
1 v o 0 - @ o —1
|| m 7 | =) ©o .
S0k NS
&1
L1

www.LinMot-usa.com



http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

imensions F01-48 quide

D

‘us pra gy ow s 13 po iy B dppuagg 2 ou 4 By oy st sy 2ou psid oy s p SELTIL Ly SR I FITUN FUYG DL ISISAIN JIRIGIR0 P 40 OIS D 1 AU pydug wep sop Yy 124 Wess1p uo jy g3 sog
e P, wnen| FOAMMTOV N E 05z 0Ghz OFFE 0&vz 05F 240 F-104
TR ——— ewrumpd | 2 0001 Cf# (2 057z Olz7ev- 104
D0 ER ] GLOZ Q0G0 PuREzag W Q001 GOz 0&s | 8] 07 O00Zx2F-10d
a 008 EEED [ EE] 0z XEF- 104
uabunm puy suolsuswig : 008 Tzol 007 [ 0591 017 %2F- 104
waEa  mEs z 001 TIFl DLl OFF 1 OO [XBF-103
iy FEsa L0+ : 00w TEzl 01z1 o5zl 0Zz (XeF-104
RUEN 5 005 Tz0l 0001 0501 OO %EF- 104
00F EE DL ovE DOBFET-10d
[ Tow e [E 0ZEr-10d
05z Bl 0&F [E; DOEXEF-1 04
@ ] ] §]
1
[ o o ]
[+] | — o
I} = | =
—|
o _ o
— = R
T. ® = I g
RITEEEET A ER o
= =i
¥4 iy S0 2L
[ex
|
_ °6 83 ° %0 ©° ==
@ ] @ @ @ @ @ [5] ® @ [5])
W % @ % ® e [
Do e © ° o e © =}
a o o o
B
T I I
(=]
— — (=]
(¥ o
(] ==
Zl
1
[ ¥1 _
Y
L 3 ﬁ
I
=
o
O
-

70/74

0185-0026-E_1V75_IG_Linear_Guides_F01.odt

www.LinMot-usa.com



http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

F01-48 ground plate

imensions

D

“uz pra o e B

AZpo =

(TS =ML URTE 21

g Y2 ou 4 Bylon st 3 4 300 4191d 0 1% PR JUSLLINY & S0P Dp BUnBILIYSU S SUSRY 5F 196U SULYG DLUL 191950 JqIs|qien 'pam }

Lz oy U d pydug wep sop

T Lon 5[ |0500L] oM
ITLon SIL | 0569 | I
FF-LON 351 |05orl| @
FF-LON 351 | 0545 | 1
ST LoH Fe | &Il | 3
ST LoH e % | 2
EEE 0500 | oSl | @a
EEE 050, | 0¢l | Ld
Honpoid o Aeios

wiey O sz DTS e IMTOV N
T
wsBunispy suoisuawig
T T T 8le|4 punols
“eveen d3-MdV-81-10d
DFg-l0dd S FE-L0dd | 091 | 0§°E5L | 61D
DFe-L0dd / #8-104d 55 05'251 | 210
DTE-L0dd S 25 L0dd | 05900 | 08°eTL | £1D
DTE-L0dd /S 25 L0dd [0} 05'gel | 910
g0 AUDD el el Eae]
g0 AUDD £l el FLO
545104 ApUDD 08¢0l | 05°22L | £LO
S/£-1 04 ApURD [ |05'ggl | Zlo
G- 104 AUDS L9 SLL | LLD
S4£-1 04 ApUDD s 0oL | OLD
S 104 AUDD £5 5% 50
SLE-1 04 ApuDD 05'¢0L | 05°£8 | 8D
SLE-1 04 ApuDD £Z 0544 | LD
g0 AUDD el 0f 50
g0 AUDD £l 0f 50
DTE-L0dd S 25 L0dd | 05°90L | 05799 | ¥O
DTE-L0dd /S 25 L0dd [0} 05'%% | 20
DFP-L0dd / F8-L0dd | 0% L 05'4F | 20
DFe-L0dd / #5-104d 55 05'4F | LD
EVEIENEDITg] SOd-A | T5Od - [=Rde]

Fonpoid jowun Asos

Wwsssip un by

a4 204

ZLLs@| oL ogeel | 99
ZLAS B Lkl ool | 8
ZLLsQ| ool | <8
ZLLs@| ol ool | @8
ZLAS |  of 055y | 18
SIS SOd-A NOd-E | Eae
oy Bluno L maiuss
4]
SLSW g1 | sl [stw
SLSW a0l | sl |stw
A
FLETW 03 | sl |vlw
FLSW oL | osl |eww
U gg) | ol |z
BUSW | go) | oel |l
gL 03 | oel |oww
gL oL | oel | v
BLSW | gg | or | ew
LN g | or | v
BLXW 09 0 | 9w
BLXW ol 0 | sv
E L - TR e
E L s TR T
B 09 o | zv
B ol o | v
TUOIIB UG | SOd-A | SOd % | B

sa|oy uopdo

71/74

0185-0026-E_1V75_IG_Linear_Guides_F01.odt

www.LinMot-usa.com


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

F01-48 end plate

imensions

D

Bl P2eL0-0210
ey

uabiunz puy

st e S0

FENTTILE AT Erd

Of=

% P iy o 36 o BUDBAT 13 po e BHLL U om dyig 4500 BoN s 3 420U isd o 19 PR JUSLIAY 00 £0 P DR BUn BILLGSU S5 SUNIILDS 15500 SUYG “DLLL JSISAIN Q19359 A i DyIwm &y ugsss  1s Bupediig Lsp 50 JUsLUnGoq Wsss! p uD pyoe0 3954 50q

Ll
ERFFEN

S4-L04 T PIAANNH-EROOED

SRONILEW']
suolsuawiqg ae|d pug

TS

Ny BEs
FETEE T

GLOZ a0'sh

14T 'O LIN

BILE UIRIE ]
P UYDRTES

8t-iod

0075 4 0050l BT
$97T% Hodnd oors @ | O 57 o
00F's A 00Ol @]
SI7T% Hodnd aoFs | o &7 Eo
0075 4 0050l BT ]
$97T% Hodnd ocrs ¢ | 55 i &
ooF's A ooz'ol @1
SITTY Hodna oor's @ | O & 1=
SUCISUZ L] T20d-A BOd-H [1Bd9RT
o] AU S
0075 4 0050l BT
9779 Hodna oors ¢ | O 57 Fd
B07S 4 0050l B
SITTY HoHNA 00F'5 | °F re kd
0075 4 0050l B[]
s3IV Hodna oor's ¢ | OF! & zd
6075 4 0050l B 1
SITTY HoENa 0oF'F B | 2! 5 19
SUCISUBLUIIG "SOd-A SOd-K | 1RGRT
Iy ApuD S

[Tk Aut=R e UETTE FI

@mo

SZ

ST 57 oL
o
ﬁ_u
& @ | ¥
% o
LV "
O |
ZlA 0 HE P
QU _.% @ ZLoo+ . | 5e “
AN 0 HED
©ov il agor | 1 i
SUCISU LG BOdUA | RO |[RGET
sloy Byuno iy (LU
FAENERE
A Gd erl &9 e
A SGERED
AAeg £g &9 =
HAWAGERF
ASQ £z &9 &
w_.:H._)_.._w.nwﬁ erl 4 o]
FANAGEREL
! O ! Ahsg Ee o o
FAERE
D 0 e ke o e
SUDIEUSLLIT | "30d-A | "SOd-H (18R
.@1@4 €Y .e.. sa|oy uolydo

72/74

0185-0026-E_1V75_IG_Linear_Guides_F01.odt

www.LinMot-usa.com


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

Declaration of Conformity CE-Marking

We NTI AG
LinMot ®
Bodenaeckerstrasse 2
CH-8957, Spreitenbach

declare under our sole responsibility that the products

Products Art.-No.
PS01-37Sx60-HP-N-AGI 0150-2549
PS01-37Sx120F-HP-N-AGI 0150-2550
PS01-48x240F-C 0150-1220
PS01-48x360F-C 0150-1269

Is conform to the provisions of directives
2014/30/EU (EMCD)
based on the following standards

EN61800-3
Spreitenbach, 19. 4. 2016

e

Dr.-Ing. Ronald Rohner
CEO NTIAG

www.LinMot-usa.com 0185-0026-E_1V75 _IG_Linear_Guides_FO01.odt

73/74


http://www.LinMot.com/
http://www.LinMot.com/
http://www.LinMot.com/

Contact address:

NTI AG
LinMot
Bodenaeckerstrasse 2
CH-8957 Spreitenbach

LinMot Inc.

204 E Morrissey Dr.
Elkhorn

WI 53121

USA

Liability

Tel. +41 (0)56 419 9191
Fax. +41 (0)56 419 9192
email: office@LinMot.com

Web: www.LinMot.com

Phone: 262-743-2555

Fax: 262-723-6688

email: usasales@LinMot.com
Web: www.LinMot-usa.com

NTI AG / LinMot (LinMot) is not responsible for any damages caused by improper use, application, or
handling of LinMot manufactured or supplied materials and is not responsible for any consequential
damages of any sort relating to the use of LinMot products.
LinMot's warranty is limited to repair or replacement as stated in our standard warranty policy as described in
our "terms and conditions" previously supplied to the purchaser of our equipment (please request copy of

same if not otherwise available).

Product warranties are void if LinMot products are used with stators,
sliders, or controllers not manufactured by LinMot unless such use was specifically approved by LinMot.

A copy of this notice must be attached to each motor and/or machine that the purchaser provides to others.

LinMot®, LinRot® and MagSpring® are registered trademarks of NTI AG

Specification of products are subject to change without notification

www.LinMot-usa.com

0185-0026-E_1V75_IG_Linear_Guides_F01.odt

74/74


http://www.LinMot.com/
mailto:office@LinMot.com
http://www.LinMot.com/
http://www.LinMot.com/

	1 Table of content
	Example Layout
	Description
	Technical data for F01-37 Guide
	Dimensions and mass of F01-37S guides
	Mass and Friction F01-37 for LinMot Designer adn LinMot Talk

	Technical data for F01-48 Guide
	Dimensions and mass of F01-48 guides
	Mass and Friction F01-48 for LinMot Designer and LinMot Talk

	Drive Setup
	Wizard LinMot-Talk Software
	Select the right stator and slider length
	Define Payload
	PID Controller
	Homing
	Full length of stroke
	Order Information for Guide F01-37S
	1. Step: Select F01-37S guide
	2. Step: Select Slider
	3. Step: Select type and quantity of Carriage-Kit
	4. Step: Select type and quantity of Stator
	5. Step: Select Trailing chain kit or trailing chain (optional)
	6. Step: Select Trailing chain cables (high-flex cable)
	7. Step: External Sensor-Kit (optional)
	8. Step: Magnetic strip (optional)
	9. Step: Adapter plate for linear rotary motors (optional)
	10. Step: Nuts for T-Slot (optional)
	Order example:

	Order Information for Guide F01-48
	1. Step: Select F01-48 guide
	2. Step: Select Slider
	3. Step: Select quantity of Carriage-Kit
	4. Step: Select type and quantity of Stators and Flanges
	5. Step: Select Trailing chain kit or trailing chain (optional)
	6. Step: Select Trailing chain cables (high-flex cable)
	7. Step: External Sensor-Kit (optional)
	8. Step: Magnetic strip (optional)
	9. Step: Adapter plate for linear rotary motors (optional)
	10. Step: Nuts for T-Slot (optional)

	Dimensions: see drawings
	Gantry Design
	Assembly of Gantry design F01-37x Guides
	Assembly of Gantry design F01-48x Guides

	Combination of F01-48 and F01-37S guides
	Semi gantry design
	Assembly of Semi gantry design

	Multiple carrier design example
	Mounting instructions
	Assembling Instructions
	Direction of the motor cable
	Assembly and disassembly of the motors and carriages
	Assembly of the slider
	Assembly of the railway
	Assembly of Trailing Chain Kit
	Assembly of an external sensor-kit

	Bearing load on F01-37S guides
	Static and dynamic bearing loads Fx und Fy
	Calculation of the static load bearing Fx and Fy

	Static and dynamic moment load Mxyz

	Electrical connection of th PS01-37S stators
	Installation of the motor cable

	Mounting „long“ Loads on the F-Guide
	Figure: Additional guide mounted to the top end of the load to prevent vibrations.
	Mounting LinMot products on F-Guides
	H-Guides and B-Guides on F01-37x F-Guide
	H01-23x Guide / B01-23x Guide
	H01-37x Guide / B01-37x Guide

	Linear-Rotary Motors PR01- on F01-37x F-Guide
	PR01-52x40-R/37x120F-HP-C-80 (-L)
	PR01-52x60-R/37x120F-HP-C-100 (-L)
	PR01-52x60-R-G/37x120F-HP-C-100-G05 (G10)
	PR01-52x60-R/37x120F-HP-C-150 (-L)

	H-Guides and B-Guides on F01-48x F-Guide
	H01-23x Guide / B01-23x Guide
	H01-37x Guide / B01-37x Guide
	H01-48x Guide / B01-48x Guide

	Linear-Rotary Motors PR01- on F01-48x F-Guide
	PR01-52x40-R/37x120F-HP-C-80 (-L)
	PR01-52x60-R/37x120F-HP-C-100 (-L)
	PR01-52x60-R-G/37x120F-HP-C-100-G05 (G10)
	PR01-52x60-R/37x120F-HP-C-150 (-L)
	PR01-84x80-C/48xXXF-C-100 (-L)
	PR01-84x80-C/48xXXF-C-100 (G0x)


	Maintenance
	Maintenance of Carriages
	Relubrication of carriages
	Quantity of lubricant for carriages
	Lubricant for carriages

	Maintenance of LinMot Motors
	Storage / transport

	Caution: Handling Instructions for Sliders
	Drawings F01-37S
	Stroke Range F01-37S guide
	Dimensions F01-37S guide
	Dimensions F01-37S-AP ground plate
	Dimensions F01-37S end plates
	Dimensions F01-37S T-slots
	Dimensions with H01-23x86 guide
	Dimensions with H01-37x166 guide
	Dimensions with PR01-52x40-R/37x120F-HP-C-80/-L
	Dimensions with PR01-52x60-R/37x120F-HP-C-100/-L
	Dimensions with PR01-52x60-R/37x120F-HP-C-100-G

	Drawings F01-48
	Stroke Range F01-48 guide
	Dimensions F01-48 guide
	Dimensions F01-48 ground plate
	Dimensions F01-48 end plate

	Declaration of Conformity CE-Marking
	Contact address:


